Aflter about how many vears of formation
of carth, life appeared on this planet ?
(1) 350 million years

(2) 500 million years

(3) 30 billion vears

(4) 500 billion vears

Which of the following statements about

cork cambium is incorrect ?

(1) It forms a part of periderm

(2) Itis responsible for the formation of
lenticels

(3) It is a couple of layers thick

(4) It forms secondary cortex on its
outerside

Select the incorrect statement,

(1) Movement of minerals in xylem is

unidirectional.

Unloading of sucrose at sink does

not involve the utilization of ATP.

Elements most easily mobilized in

plants from one region to another

are : phosphorus, sulphur, nitrogen

and potassium.

(4) Transport of molecules in phloem
can be bidirectional.

(2)

(3)

LY

Which of the following statements is

incorrect regarding the phosphorus

cyele ?

(1) Phosphorus solubilising bacteria
facilitate the release of phosphorus

from oreganic remains
(2) There is appreciable respiratory

release of phosphorus into

atmosphere
It is sedimentary cycle .
Phuspnates we Hie it sjor form of

phosphicius 12atttd

(3)
(+)

[~ _ s Ay

3

4

(1) 72 ufrad &1 vs wor =)
(2) T Fav=A F 797 & fo ooy |
(3) T 2 utd =1 Fh B

(4) T JT7 IR ) A fadmE age e
Frrafor & %

T FOT B g |

(1) Wwaﬁmmnﬁwﬂ:ﬁﬁmﬁﬁ
¥ = o

(2) wmmﬁmqnﬁﬁ T
E‘;'?JTfT?ﬂ"FIHT|

(3) ¥ @ W 9 § um M F 3w W

— e

ﬁmmamﬁ&ﬁﬁmﬁ%aw

(4) 'mm‘ ﬁmﬁmm" fefars
A e
mEGE )

(_”ET HeA n:ra'%‘*-'

(1) Wmmﬁﬂﬂ%aﬁm
ﬁw*wmmﬁ@qmi

(2) arguvEe ¥ FRTE GO B F yergy
g T E

(3) H‘E-a]ﬂﬂ'ﬁﬁﬁq%

(4) wrearce 93 F O FY S ¥

[}
A
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Scanned with CamScanner



e

Match the items in Col
in Column 1 :

Column 1 Column 19
(a) Herbivores- (i) Commensalism
Plants

(b) Mycorrhiza- (ii) Mutualism

Plants
(¢) Sheep-Cattle (iii) Predatjon
(d) Orchid-Tree (iv) Competition
Seleet the correet option from following :
(1) (a)-(iii). (h)-(ii). (e-{iv). (di-(i) )
(2) (a)-(ii). (b)-(3). (C)-(iii). (d)-(iv)
(3) (a)=(i). (b)=(iit). (c)-(iv), (d)-{ii)
(4)  (@)-(iv), (b)-(ii). (e)-(i). (d)-(iii)

During non-cyclic photophosphoryvlation,
when electrons are lost from the reaction
centre at PS 11 what is the source which
replaces these electrons ?

(1) Walter. (2) Carbon dioxide
(3) Light (4) Oxygen

Which of the following statements is

incarrect ?

(1) Lnergy content gradually increascs
Irom first to fourth trophic level

(2) Number of individuals decreases
Irom first trophic level 1o fourth
trophic level

(3) Lnergy content graduai]_r decreases
from first to fourth trophic level

(4) Biomass decreases from first to
fourth trophic level

Male and female gametophytes do not
have an independent free living existence
in ;

Alzae (2% Anpinsperms
(3) Bryvophytes (4) Pteridophytes

Umn | with those

5

WI%W’TWWIIE@HW
*E_l Fad 11

() sUETETdT w9 (i) wEWICAdl

(b) FHaFgm-grEg (i) wEGHILA

(¢) ¥z-gg (iii) o

(d) #HiEs-—ga (iv) wicresl

Freafeaa & | wé fames giag

(1) (a)-(ii), (b)-(ii). (c)-tiv), (d)-(i)

(2) (a)-tii). (b)-(i). (c)-(i1i). (d)-(iv)

(3) (a)-(i). (b)-(iii). (c)~(iv). (d)-(ii)

(4)  (a)-(iv). (b)-(ii). (c)-(i). (d)-(iii)

mfnwmmgﬁnmﬁl‘b Il 97

@ﬁmwnwmﬂﬁm%ﬁm"_
IEE F e wiaentas wr ¥ 7))

(1) = (2) WETE&TIHFI?,E
(3) wepraT (4) A=

Frfoiaa 5 § &0 9 &9 Tem 207
(N Hmﬂﬁmﬂﬁiq@mamﬁ
@ AT GG qEE AT e

(2) nwmﬁmamwmmw
w HEE F9 EE A

(3) ;rﬂrrmmmﬁaqatrr@rmm;

(4) Hmwmﬂmwmﬁw
FY EET AT €

Prtafas o § BFEd =1 i o .ﬁ

T, ?aatrmwfaumﬂ-qﬁ-na ~
(1) fam (2) aﬂﬁﬁ'nh—:n
(3) zTETREE (4) Ermee
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Aal »& indi+Enelish )

;«n

[dentily the statement which is incorrect.

(r) Glycine is an example of lipids.

(2) Lecithin contains phosphorus -
in 1ls structure.

(3) Tyvrosine possesses aromatic ring in
1ts structure,

(4) Sulphur is an integral part of
cysteine.

In the following in each set a conservation
approach and an example of method of
conservation are given
(a) In situ conservation

- Biosphere Reserve
(b) EX situ conservation - Sacred groves
(c) In situ conservation - Seed bank
(«h) Ex situ conservation

- Cnvopreservation
Select the option with correct match of
approach and method
(1) (a)and (d) (2)
(3) (a)and (b) ()

{(b) and (d)
{a) and (¢)

In a mitotic ¢ycle. the correct sequence
ol phases 1s
() G, ‘H (_h M (2) M (:*G S

Which of the following elements helps in
maintaining the structure of ribosomes 7

(1) Zinc (2) Copper
(3) Molybdenum ™) Magnesium

Phycoerythrin is the major pigment in :
(1) Blue green aleae

(2) Green algae

(3) Brown algae

(4) Red algae

Chromosomal theory of inheritance was
proposed bY
(1) Bateson and Punnet
(2) T.H- Morgan
3) g5 =0 10d Cmzle
Guitor ard Boven

9 @\T‘i_ﬂwl
(1) ™sfers v, fefre a1 e
(2) ¥HFem & zran wraen & wHHTE
?T"ﬂi'|
m#ﬁﬁm T T
B E
HET, T o1 s o=t wim

(3)
(4)

10 F=ifsfaa § g Uz _H_HIH WEE
(@) | ™E F5rerm Agmvze GEiaT
(b) @ W §vEw - FEad
(¢) = ™=E grem - &7 3%

(d) =/ == qrem wEIw A
HEN {1 wEE g 30 fai & g g
(1) (a) & (d) (2) (b) 37T (d)
(3) (a) a(b) (4) (a) 3T (¢)

11 q;ﬁﬁmmﬁmmma-_h_a’rﬂﬁjqw

™ C, S Gy M () M, Gy G

12 ﬁmﬁmﬁﬂaﬂwmﬁwmw
Eﬁimm%
) tm
(3) Hifer="d

13 grgmmfdye feed OF gE aviE ®
(1) Frmr zfta @
(2) =@ aa
(3) T =
(4) @

(2) =T (dry)
(4) B=faray

| Conyg
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A species which was intro
ornamentation but has he
some weed mn Indig
(V)Y FEichhornia crassipes

(2) Prosopis juliflorg

(3) Trapa spinosa

(4 Parthenium Ivsteropharys

duced (or
come a trouble-

Attachment of spindle fibers (o
kinetochores of chromosomes becomes
evident in :

(1) Telophase

(2) Prophase
(3) Mectaphase

(43 Anaphase

First discovered restriction endonuclease
that always cuts DNA molecule at a
particular point by recognising a specilic
sequence ol six base pairs is

(1) Adenosine deaminase

(2) Thermostable DNA polymerase

(3) Hind 11

(4 LcoRlI

In Giveine max, the product of biological
nitrogen fixation is transported from the
rool nodules to other parts as @

(1) Glutamate {2) Nitrates

(3) Ureides (4) Ammonia

The term “Nuclein®™ for the genetic
material was used by :

(1) Meischer (2} Chargaft

(3) Mendel (4) Franklin

P\-‘[:ﬂl’.'l'l the t’u]h‘nving cnncerning the
activity/function and the phytohormone
involved.

(a) Fruit nipener
(b) Herbicide
(c) Bolting agent  (iii} 2. 4-D

(dy Stress hormone (iv) Eth?phnr‘n_r
Select the correet option from folloWing -
(1) (@i (b1, (e)-(ii). (d-0)

£2) (airv), (i, scp(iin (D-0)

e CTYIY (LR O ST (e ) 2 (d)-(iin)
(4 (a)(ii). (b)-iii). (c)-(iv), (d)-(1)

Wﬁ?ﬁlﬁwﬁ%mmﬁqwf
o o ot 97 7w U g o9

ke i)

(1) siganar #haed

(2) wrITs Fiererd

(3) g AT

(4) ity fEeTehg

T % @A A ad dqei B aE

(1) af=gran (2) garaedn

(3) wreTEEn (4) gyEraIn

el T i T e e

B 9E HE AL

(1) wEmEeT T

(2) AT ELUAT. EHIA

(3) Mind II

(4) FcoRl1

IFH e 8 FfaE TR DisEmT &

MR 3 At A 3 Wl W e ey g
(2) g2z

(1) Tzre :
(3) gft= (4) s

19 ifsrw o= & fera M\

ST O I S gy
(1) hgat (2) TrmTE
(3) =« (4) Wmfe

20 wrdEEEiEE T wEtad Uy Erede
fawa ¥ Prefafaa #) gafed dmmm

16

17

(a) W 9HE @ (i) AT epe
(b) s (i) GA,4

(c) =fezn =l iy 2. 4-D

(d) whiEs Tam (iv) ZHFRE
f=rfoifan 5 | =4 :

(1) (a)-(hiny. (b)-(iv). (c)-(ii). {d¥=(i)
(2) (@)iv). (b)ii). (e)-ii). (d)-(i)
(3) (a)-(iv) (b)) ()i) (d)-Ciii)
(4) (a)-(ii), (b)-(11i). (c)(iv). (d)-(i)
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{ According 10 Alexander von [Humboldt :

(1) Species richness increases with
increasing area. but only up to limit
There is no relationship between
species richness and arca explored.

(2)
(3) Species richness goes on increasing
with increasing area ol exploration
(4) Species richness decreases with
increasing area of exploration

2 The impact of immigration on population
density is :
(1) Both positive and negative
(2) Neutralized by natality
(3)
(4)

PPositiver
Negative

Which of the following is incorrect for

wind-pollinated plants ?

(1) Many ovules in each ovary

(2} Flowers are small and not brightly
coloured

(3) Pollen grains are light and non-sticky

(4) Well exposed stamens and stigma

IEmbryological support for evolution was
proposed by :

{1} Karl Emst von Baer

(2) Charles Darwin

(3) Alfred Wallace

(4) Emst Heckel:

§  Which of the following is incorrect aboul
Cynobacteria ?
(1) They lack heterocysts .
(2) They often form blooms in polluted
water bodics
o Theisnze citlereps
"E,'I.'L'-"_t :ﬂ!a,_-.'i_;; 5 .
v are photoautotrophs

(4) The

.\t A similar to

(4) = w1 f g gy A FGEAH
22 SirEHEn a9E q'{__imfr_r_ﬂ;ﬁ_%fﬁ].
s S
(1) "&HTaE 3 Awrasd T
(2) T==7 zTa Fromuyma &6
(3) AFOHSE
(4) AFMTHS

P

23 arg-waima vy % fagg f i
FA_HL A p Y i
() 7% =t & aza & 4
# .

(3) 9OTET TR SN AaysS g

(4) W= WA gFHae it affsm

24 HEHNT I F Mo oa
Tfpad frmroar g, RS o o
(1) =& 3= 91 Far
(2) T =Ea
(3) W=HE e
(4) aFf= EFe

Scanned with CamScanner



30
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Match the followine -
(a) Adquaporin (i
(b) Asparagine (1i) p

v l 5t ide
(¢) f":.bfan_:u-'.:c acid (jij) P:::]i;;??;:d"
(d) Chitin (iv) Carotenpig
Select the correct option - o
(1) (@)= (b)-(ii). (c)-(iv), (frr:

L S0, (d)-
(2) {a}-{!ﬂ. (B)-(i). (c)-(iv). m;iiﬂ
(3) (@)-(iii), (b)~(i). (c)-(ii). (d)-(iv)
(4) {a)-(iii). (b)-(i). (c)-(iv), (d)-(ii)

The biosynthesis of ribosomal RNA
OCCUrs in :

(1) Golgi apparatus

(2) Microbodies

(3) Nucleolus

(4) Ribosomes

Who coined the term *Kinetin® ?
(1) Darwin

(2) Went

(3) Kurosawa

(4) Skoog and Miller

The number of contrasting characters
studied by Mendel for his experiments
was |

(1) 4
3y 7.

(2) 2
(43 14

Correct position of floral parts over
thalamus in mustard plant is -

(I) Margin of the thalamus grows
upward. enclosing the ovary
completely, and other parls arise
below the ovary.

Gynoecium is present in the centre
and other parts cover it partially,
Gynoecium is situated in the centre.
and other parts of the [lower are
located at the rim of the thalamus, at
the same level. .
Gynoecium occupies 1he highest
position, while the other paris are
saulen Tatasdi 4l

(3)

4)

-

26 \frerfafad S gafee i -

(a) TR () 'EEs -
(b) TEr (i) weogs (@)
(c) ulfas e (iii) WiaTeEs
(d) =Efe (iv) &UF=izs

o Tawe R -

(1} (a)-(ii). (b)-(iii). (c)-(iv). (d)-(1)
(2) (a)-(ii) (b)-(i). (c)-(iv). (d)-(i1D)
(3) (a)(iii). (b)-(i). (c)-(ii). (d)-(iV)
(4) (a)-(iii). (b)) (e)}-(iv). (d)-(ii)

27 T T S, da wd BE
{1} ol 9
(2) wEwEEE (gEEm)
(3) *Fam
(4) Ts=mEm

(2Tt sr= Fomd P Poar e 7

() ==

(2) d@e

(3) FEmEr

(4) =g iR T

e o e feadr a7
(1) 4 (2) 2
(3) 7 (4) 14

e (uvH) & 9 F g ot gl s
&) Rafa = % & &9 a1 9@ qoier & 8
(1) o &1 B SaT 9 i ghe s
% o svenvm & Qo ®9 & 9% =T o
¥ oliT &g 9 ey & T ¥ gae
T ¥
e &% 8 fua ¥ oo o Wi =g
HITH &7 F 9 1= £
?W%ﬁﬂmmmﬁw
|
(4) < waw ST Raa &, w96 oy sy
su% T Raa ¥

29

30

(2)
(3)

| Contd...
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In a mixture, DNA fragments are
E_L"F.[Ir:]led h}'

(1) Restriction digestion

(2) Electraphoresis

(3) Polymerase chain reaction

(4) Bioprocess engineering

In Recombinant DNA
antibiotics are used -

{1) to detect aliecn DNA
(2) to impart disease-resistance to the
host plant

as selectable markers

to keep medium bacteria-free

technology

(3)
(4)

Which of the following statements is

incorrect ?

(1)- In C, plants. the site of RuBisCO
activity is mesophyll cell

(2) The subsirate molecule for RuBisCO
activity is a S-carbon cmnpnund

(3) RuBisCO action requires ATP and
NADPH

(4) RuBisCO is a bifunctional enzyme

Which of the following is the correct
fMloral formula of Liliaceae ?

() ® 6 QK Gs) 45 Gz)

(2} Br & (_'_{ }.;;:i_h::f3+3 G{]]
) © G Ky Gy s Gy

Yo {(*|+2+(2} Aoy G,

Inhibitory substances in dormant seeds
cannot be removed by subjecting seeds
to :

(1) Nitrate

¢2) Ascorbic acid

(3) Chilling conditions

(4) Gibberellic acid

(4)

Zﬁ_llindi+English |

33

(]} ?I‘I%‘frfrt[‘r‘rq 1 UA H B Y

(2) wardl gy § qe-wferdraer WIS
% fog

(3) goTgrg oy & =9 |

(4) wrems i SfemREd W@ &

Pretfefian & Rk e & ool B

(1) C,u=w & RuBisCO ¥ wrwemi &
fom e, geiwams Sifima £
RuBisCO srardi & o Hrdza a1
UF S-FEA s d

RuBisCO =1 Frshear & fiaa g8 1.
3t NADPH #1 sgyassen 2t &
RuBisCO w% fzamais voeg &

(2)
(3)

(4)

34 ¥ H®E ?
34 _ Frevfifie & & 2t feftreeh o o) qurer # ¢

1 069 K5) Gy s G

G

€2) Bre (5' Fl‘:3+3] ‘43_;,3 (3)

(3) @ C{R
% ‘{C”*{ll Aoy G

%) Gs) As 5 G(2)

it # ﬁﬂﬁmh@m § %
35 n;awj_,ﬁa——ﬁ iy .
T w8 T07 Proven o w3 1
(1) -
Qﬁqﬁa; HH
) g
4
| Con. .
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36 ]r}-ruv‘atn: deh}'dfﬂgtnase s <
aerobic respiratio A

ty during | 36 LG G 1 o e R - ST

37

Il requires -
(1) Iron [ll?ug'?b;;h

s § {6 savamar E B

(3) Magnesium (4 : (1) == 2) HEwRe
= ) Calcium A (<) i
(3) Ty (4) Tfegag

Large, em
adaxial ep
leaves are
(1) Guard cells

(2) Bundle sheath cells
(3) Bulliform cells

Pty colourless cells of the

Idermis along {he veins of grass

37

T %) i) @ Rl 7 § apge qEE S
@ a3, @il aviten wifiw @ ¢ !
(1) ar-wilEa M

(2) e HIyERE

(33 smad aEFElEE

(4) Lenticels (4) amFtu
38 38 o o Aiaw & wen_a wE ww B

Identify the correct features of Mango and
Coconut fruits. "

(i) In both fruit is a drupe

(i) Endocarp is edible in both

(1ii) Mesocarp in Coconut is fibrous, and

CgEnfTT 1
(i) = d % wE aftew ¥
(il) I F ofa: wwiata @9 9rg £
(iii) =T § warsafifa 5= & ot o

if nL|

in Mango it is fleshy’ M TE A & _

(iv) In both. fruit develops from (iv) 3 ¥ ot 1 famr wwred) o #
monocarpellary ovary & &

Select the correct option from below : wE e g -

(1) (1), (11) and (iii) only
{3) (i) and (iv) only
3) (i) and (ii) only
(4) (i). (iii) and (iv) only

(1) == (i) (ii) 3 (i)
(2) FEw (i) T (iv)
(3) waw (i) 0T (i)
(4) wFEA (). (iii) & (iv)

39 Match the following techniques or | 39 ﬁqﬁf@aaﬁa;_w H;IM
instruments with their usage : | gifem st e
(a) Bioreactor (i) Separation of (a) SATEERC (1) ST o )
DNA fragments 9uF BT
{b) Electro- (ii) Production ‘ﬂlf (b) FEERREE (i) swafes wEr i
phoresis large quantities TS BT R
of products (c) ddam (i) whrE—af
(c) PCR (iii) Detection of (PCR) s
pathogen, based i i iE|.| T;ﬁj'
on ant1Zen - i imi'”“ﬁi

[24] zs_Hindi+English |

antibody reaction
(iv) Amplification of
nucleic acids
Select the correct option from ﬁ‘rlfﬂvmg :
(B (@)}, (b)), ()-(iv). (A1)
(2) (a)-(iv). (b)(iii), (c)-Liik tdl:(t‘l
(3) (a)(ii). (b)(i). (e)=(iii). (d)-0V)
(#) (@)-(iii). (b)-(ii). (c)-(iv). (D

(d) ELISA

(d) TUAIRTWY (iv) s el &
(ELISA) PEGE ¥

frefefas & 9 w1 faeer gfo -

(1) (a)(i1), (b)-(i). (e)-(iv). (d)-(iii)
(2) Aa)-(iv), (b)-(iii). (c)-(ii), (d)-(i)
(3) {(a)-(iD). (b)-(i). (c)-(iii). (d)-(iv)
(4) (a)-(iii), (b)-(ii). (c)=(iv), (d)-(D)

| Contd...
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24

Wwhich of the following statements is
incorrect about gymnosperms ?

(4) Male and female pametophytes are
free living

Most of them have narrow leaves
with thick cuticle

Their seeds are not covered

They are heterosporous

(2

(3)
(4)

In the polyvnucleotide chain of DNA, a
nitrogenous base is linked 1o the -OH of

(1) 3°C pentose sugar
(2) 5°C pentose sugar
(3) 1"C pentose sugar
(49 2°C pentose sugar

Air (Prevention and Control of Pollution)

Act was amended in 1987 to include

among pollutants

(1) Allergy causing pollen

(2} Noise

(3) Particulates of size 2.5 micrometer
or below

(4) Vehicular exhaust

Inclusion bodies of blue-green, purple and

green photosynthetic bacteria are :

() Gas vacuoles

(2) Centrioles

(3) Microtubules

{(4) Contractile vacuoles

Vegetative propagule in Agave is termed
as :

(1) Bulbil
(3) Eve

(2) Offset
(4) Rhizome

In some plants thalamus contributes to
fruit formation. Such fruits arc termed as :
(1) Aggregate fruits

(2) True fruits

(3) Parthenocarpic fruit

¢4) False fruits

Z6_Hindi+English |

10

41

42

43

44

45

() % ¥ = B

) ¥ e i ¢

ng(mwmﬁmwmﬁmaw}
1987 Hﬁﬂ[ﬁlﬁ fsgr A e, SEs or
a?ﬁ‘ﬂmmﬁm? ?

(1) wgear @21 & 9@ 9a0

(2) ¢m7 .

(3) 2.5 AEFMEIT 91 SHY T 9T F
(4) @ | foqe g

Hrer—fta, A (999) o Bt ey g

el 4 oiide @z ¥ 7))

(1) #a ar

(2) aEEE

(3) g TEH

(4) dgaiE e

orig A FHE I B 7 w6 s &

(I]_ @AgEaE  (2) eI

(3) oi@ (4) "
mﬁﬁﬁaﬁﬁmﬁTW

Fr E_ f@wﬁﬁqum.m¢ 7

(1y g7 = |

@) ¥ -

@) P

* omtd.-
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Z6_Hindi+English |

Spooling is -

(B Cutting of
: = SCparate -3
[rom the agarose EEId B 1}'““1”'.

=¥ - - i

(2) FT‘:.M-M- O separated DNA
L. JrEments to synthetje membranes
(3) Collection of isolated DNA ‘

(4} Amplification of DNA

The laws apgd rules

o prevent

unauthorised exploitation of bio-resources

are termed as -
(1) Biocethics

(2) Bioeng; 1
(3) Biopiracy =y SN

(4) Biopatenting
Select the correct statement -

(1) Angiotensin Il js a powerful
vasodilator.

Counter current pattern of blood fMow
is not observed in vasa recta,
Reduction in Glomerular Filtration
Rate activates JG cells to release
renin..

Aurial Natriuretic Factor increases the
blood pressure.

(2)

(39

(4)

In cockroach, identify the pans of the

foregut in correct sequence :

(1) Mouth - Crop — Phannx —

QOesophagus — Gizzard

Mouth — Gizzard — Crop —

Phannnx — Oesophagus

(3% Mouth —» Phannx —
Oesophagus — Crop — Gizzard

(4) Mouth — Oesophagus —
Pharnnx — Crop — Gizzard

(2)

Select the correct statement from the
following : .

(1) The polymerase enzyme Joins the
gene of interest and the vector DNA,
Restriction enzyme digestions are
performed by incubating purified
DNA molecules with the resiriction
enzymes of optimum cnndl_lmns.
PCR is used for isolation and
separation of gene of interesl.
Gel electrophoresis is used for
amplification of a DNA segment.

(2)

(3)
(4)

11

46

47

48

49

50

ho—

T

(1) wim %@ & aem fer DNA 95 2
HIEH &N

(2) DNA @21 &1 i farferai il
HAT

(3) gyam DNA %1 =Fz21 &0

(4) DNA =7 watdq st

fem e Frasi va e o wed ¥ -
(1) =mamias (2) FTETEAT=ar
(4) "

(3) ST

HEl HUA & 99q @i

(1) i 1 o s afem gEvs
- 2k ,

(2) T waw & Wiaurn wiEey amer W H

(3) it P 1 2 A a1 IG e
w! A Ot & o fEmde e ¥

(4) ufzmw Afgies e @ =2 5 9
3 -

e &t s & Wi = ofad &9 § e

(1) 9@ - 97 — TEE — T, Gepofy
(2) Eﬁ—}aﬂﬁ—pﬂﬂl—rm-}'ﬂmﬁﬁ
(4) 9@ — TES — T80 — T - Ugofy

fr= % =8 F5 ® T w0

(1) el G e Hg od e
DNA i =r=ar ¥ | :

(2) wivaw TAEY = § gifaga DNA
& e aren & iy o & ay
Tawrad fFm e &y :

(3) PCR i 3iM & guamyo vd Remy
% fm awm g 2 i

(4) A FHFIERTER DNA gt & uady &
TughT FE R

| Contd.,,

Scanned with CamScanner

—




51

55

Which is the basis of genetic mapping of
human genome as well as DNA finger
printing ?

(19 Single nucleotide polymorphism

(2} Polymorphism in hnRNA sequence
(3) Polyvmorphism in RNA sequence
(4) Polymorphism in DNA sequence

A Hominid fossil discovered in Java in
1891, now extinct, having cranial capacity
of about 900 cc was

(1Y Neanderthal man

(2) Homo sapiens

(3) Australopithecus

(4) Homo erccius

The phenomenon of evolution of difTerent
specics in a given geographical area
starting from a point and spreading to
other habitats is called -

(1) Co-evolution

(2) WNawral selection

(3) Adaptive radiation

(4) Salation

According to Central Pollution Control
Board [CPCB] what size (in diameter) of
particulate is responsible for causing
ereater harm to human health ?

{13 2.5 micromelers

(2) 4.0 micrometers

(3) 3.0 micrometers

(4) 3.5 micrometers

RNA interference is used for which of
the following purposes in the field of
biotechnology 7

(1) 1o develop a pest resistant plant
against infestation by nematode

to enhance the mineral usage by the
plant

to reduce pest harvest losses

to develop a plant tolerant to abiotic
sIresSsCs

(2)

(3)
(4)

51

52

53

54

55

WW@DNAWW%EW{WT
qﬁﬁ:ﬂwmramﬂ Fa T o
1) e AgiwmaieEs ageda

(2) hnRNA ==i § Fg=gdl

(3) RNA i o agead

(4) DNA =i § ggeddar

1891 # wrer # uw AEEEE H ST
foraa witaes emer 900 cc 41 7 TF g

s

(1) FraEvge wma

(2) e dftge
(3) oiEmiTEsT
(4) =T gteT

ww fag T it & § v fiag @ oy
Gﬁ‘(ﬁﬂﬂﬂﬁﬂﬁﬂ“ﬁffﬂﬁﬁﬁm‘f

%ﬁ‘iﬁmm,m‘éﬁr_ﬂﬂj-

(1) ue-fawm

(2) gl =g

(3) arEen farw
(4) "™

i wguw P @S [CPCB| & el
P ST (9TH) o SHivrERia yaT AIe e
% fomy oo gramea ¥ 7

(1) 2.5 "Eset

(2) 4.0 TTEmHET

(3) 3.0 "R

(4) 3.5

Sy qFAE F &9 H RNA ety 51
ﬁ-m;;gﬂif@ﬁm%f
(1y gt & P mmﬁ-’mﬂﬂff
e
eﬁﬁ_ﬁ’mmﬁ—ﬁ?lmﬁnﬁﬁ**i
a—aﬁﬁﬁimﬁ‘—rmﬁlﬂﬁ
aft

CORRARIRRARAAY am o s

(2)
3
(3) 3 & fm

m—ﬁauﬁﬁﬂ‘fﬁinﬁlaﬁﬁﬂﬁﬂ“

) ¥ Pior & fa

| Contd”
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39

Chlamyvdiasis_ Svphilis
warls - h
HIV, Gonorrhoey
Gonorrhoes,
Hepuitis B
Genital herpes, Hepatitis B
HIV infection

Genital

10¢a, Irichomoniasis
l"n-.:hnmnniusis._

(4)

E. Coli has only 4.6 ~ 106 hyse pairs and
c:qmpleu:s the process of replication
within 18 minutes: then the average rate
of polymerisation is approximately -

(1) 3000 base pairs/second )

(2) 4000 base pairs/second

(3) 1000 base pairs/second

(+) 2000 base pairs/second

Match the following columns and select
the correct option :

Column - | Column - 11
(a) Aprenodvies (1) Flving fox
{(b) Pteropus (i) Angel fish
(c) Preroplnvtlum (ii1) Lamprey
(d) Perronn=zon  (iv) Penguin

(1) (a)Giii). (b)-(iv). (c)-(i). (d)-(ii)
(2) (a)(iv). (b)-{i) (e)=(ii). (d)-(iii)
(3) (a)-(i7) (bpi). (e)-{iv). (d)-(iii)
(4) (a)-(iii). (b)-(iv). (c)-(ii}, (d)-{i)

Match the following columns and select
the correct option :
Column - 1 Coluomn - 11
(a) Pituitary (i) Steroid

hormone _
(b) Epinephrine (i) Neuropeptides
(c) Endorphins  (iii) Peptides. proteins
{d) Cortisol (iv) Biogenic amines
(1) a)ii). (bH(iv), (e)-(iD) (d)-)
(2) (a)iv). (b)(ii). (c)-(i) (d)-01)
(3) (a)-iii). (b-(iv). (c)-(i). (d)-(iD)

57 £ @ld F FaEld6 « 108
4 ghrpf 2 wfrar 18 fa § & QBT
4 ¥ I[30 YA ageim T #) ahad I T

(4) (@(iv). (b)-(i). (e)-(ii) (dHGiD)

Z6_Hindi+English | 13

56 Fr & @ @ STD 71 i ae geaLH
C @ gy T

(1) wwfafzaen, fafrfm, dfm o@
(2) HIV. o=, TEsmeEa
(3) g, TEEMEED, gFamd B

(4) wAPrE aied, agasig B, HIV G870

£

(1)
(2)
(3)
{4

3000 48 graG%s
4000 9 gdF=
1000 <8 g @&
2000 99 gHEHE

58 ﬁwﬁq‘rmﬁiﬁfaﬁﬁmaﬂw

1D
) = — | w - I
(a) sy (i) wET wEw
(b) HRiww (ii) TAw =
(c) 2eifeEmmT (iii) =1
(d) wzEETiT (iv) OF==
(1) (@a)-Giii). (b)-(iv). (e)-i). (d)-(ii)
(2) (a)-(iv) (b)) (c)-(ii). (d)-(iii)
(3) (a)(ii), (b)-(i). (c)-(iv). (d)-(iii)
(4) (a)-(iii). (b}(iv). (e)-(ii), (d)-(i)

59(ﬁ_rgﬁmﬁmmﬂﬁﬁﬁwaﬂt~a
BT i

Y — | wg - 11

(a) e et (i) Hitigs

(b) T (i) —groeTge

(c) UEIET (i) T=EE, WaN
(d) FfEEm (iv) g v |

(1) {a)tiii). (b)-(iv). (e)-(ii). (d)-(i)
{2) (@), (b)(ii). (e)-(). (d)-(ii)
(3) (a)(iii}, (b)-(iv). {c)-(i), (d)-(ii)
(4) (a)-(iv). (b)-(i). (c)-(ii). (d)-(iii)

[ Contd,_.
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go Match the following columns with

reference to cockroach and select the

correct option :

Column - I Column - II

(a) Grinding of (i) Hepatic caecal
the food particles

(b} Secrete gastric . (ii) 10" segment
juice

(c) 10 pairs

(d) Anal cerci

(iii) Proventriculus
(iv) Spiracles
(v) Alary muscles
(B (a)-(iv), (b)-(iii), (c)-(v), (d)-(ii)
(2) (a)-(i), (b)-(iv), (c)-(iii), (d)-(ii)
(3) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(4) (a)-(iii), (b)-(1), (c)-(iv), (d)-(ii)

Maich the following columns and select

the correct option :

Column - I Column - IT

(a) Ovary (1) Human chorionic

- Gonadotropin

(ii) Estrogen &
Progesterone

(ii1}) Androgens.

61

(b) Placenta

{c) Corpus
luteumn
(d) Leydig cells (iv) Progestcrone only
(1) (a)-(i), (b)-(ii), (e)-(iii), (d)-(iv)
{2) (a)(1), (b)-(iii), (c)-(ii), (d)-(iv)
(3) (a)-(i1), (b)-(D). (c)-(iv), (d)-(iii)
4 (@), (B)(ii), (€)-(ii), (d)-(i)

For the commercial and lndustr;a]
production of Citric Acid, which of the
following microbes is used ?

(1) Lactobacitlus sp

(2) Saccharomyces cerevisiae

(3) Clostridium butvlicum

(4 Aspergillus niger

62

In human beings, at the t:nd of 12 weeks
(first trimester) of pregnancy, the
following 15 observed :

(k) Most of the major nrgan systems are

formed
(2) The head is covered wuh I'm: hair
3)

63

Movement of the foetus
(4}  Eyelids and eyelashes are formed
26_Hindi+English

[24

14

60 R & e # ey ol o e
I 957 %, -

Dl ToT

| - | W - I
(a) LA (i) THAg s
(b) w&T =i (i) 104 @s

CofeICus
(c) 10gqm (iii) oy
(d) & wqu (iv) samg o=

(v) uEE 9sf

(1) (a)(iv). (b) -(iii), (c)~(v), (d)-(ii)
(2) (@)-(), (b)-(iv). (c)-(iii), (d)-(ii)
(3} (a)-(ii), (b)-(ii), (c)-(i), (d)-(iv)
(4) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)

61 . Fre1 &l &1 Prar @Y odl feey @ =

- WY - 10
~ (a) w=nE (i) w9 Wy
, TS IZE
(b) & (i) T o
e
(c) d = (iii) dgeT

(d) wisy wfymd (iv) Saa feeE
(1) (a)(1), (b)-(ii). (c)-(iii), (d)-(iv)
(2) (a)-(1). (b)-(iii), (c)-(ii). (d)~(iv)
(3) (a)-(ii). (b)-(i), (c)-(iv), (d)-(iii)
(4) (a)-(iv), (b)-(iii), ()-(ii). (d)-()

62 frer % B ¥ Gewlie o Sy R o

%ﬁiﬂtﬁﬁm ikl ﬁs ﬁ‘l'tf izl
(1) deidfers sp éi;*-?f-.

3) fr‘ﬁ’?@%w T &

(4) ] R .-"',-; 7] $
63 ﬁlzm(mﬁmmaﬁmmr

o 5t g ot G g7

(1) sTfater 9 i ) -

(2) fax Fre AT ¥ wE T g

(@)

@) o o ¥ %

(4) ww@ T3 T T &

| | Com-e
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(1) Decreased productivigy ¢ _ 64 FHYTTT sgEEa -
of superior male 4ng 'i"f,L:t. to mating, (1)_4 97 vd = omr & g9 &
(2} Decrease in body .mm_L:;.w h"m“h't TAEEAT § w1
~due to continyed close inh r:rtn‘y.n} (2) Triae e smwaT % mreor g &
(3) Reduced S Inbreeding HfeE T &
teed fertility ang productivity ¥ : : i) eeyell
; due to continued close iﬂbrr:uding_' (3) 3”_*” RE S & HIO T
(4) Reduced 1'“““"1}' and immunity due R AR -
to close inbreeding (4) Pz daw = & s isiea 9@
wieream § &y
65 Match the following columns and select
the correct option : 65 = wiwi =1 fem =t wé fawea @1 999
(_Iulumn -1 Column - 11 CaR” o
(1) Typhoid (a) Haemophilus wH - | w\w — 11
B influenzae (i) ZIEEES (a) Wiy
(ii) Malaria (b) Wuchereria T A
bancrofti (ii) weifean (b) gothar dwiverd
(iii) Pneumonia (¢) Plasmodium vivax (iii) =geifrar (c) wSifzay
(iv) Filariasis (d) Salmonella tvphi g
(1) (i)-(e). (iD)-(d). (iii}-(b), (iv)-(a) (iv) GEafcam  (d) G 2w
(2) (@) ([33-1;1- {'_'_'_1-'1*:5»'“ Kiv(0) (1) (). (D). (iii-(b). (iv)-(a)
(3) (f]"(ﬂ}-. {I.I.}-{ ‘L {“']'( ). f“)‘(;] (2) (Ia) (iD)-{c). (iii-(b). (iv)-(d)
(4) (D)-(d). (ii)-(c). (iii)a). (iv)-(b) (3) (i)-(a). (ii)-(b). (iiD)-(d). (iv)(c)
&) (i)d). (ii)-(c). (iii)-(a). (iv)-(b
66 The increase in osmolarily from outer to KL RS )
inner medullary interstitium is maintained | 66 grr 3 sirere semish s § v T
due to : e . =1 T fFas aro Famd e e
(i) Close proximity between llenle’s () T e e SR G
loop and vasa recta ey ’
(ii) Counter current mechanism : (i) wfrn Py
sren g reti T HCOT i . . = =
Lz} :T"“w ,Sem.“n;;l e (i) PCT & HCO; Ud FEEEA amai a0
yvdrogen ions in
Eon ERRSLEL ssure in glomerular <
o g Hond s N~ -
(1) (i) and (iv) (2) (D). (i) and (i) (3 aufl st vl &) Ok Tl s
(39 (i) and (ii)  (4) Only (i) B g O e
& ennin)is found | 67 ﬁﬂ#—mﬂﬁmﬁﬁqﬁ%ﬁﬁﬂﬁmﬁar :
67 'I[r‘:m: proteolytic enzymg rcnnit Cor = —
(1) Bilc juice (@) Gastric juice (1) fora et ® = (2) et L |
(3) Pancreatic juice (4) Intestinal juice (3) s TH O (4) HiF TEH A
Z6_Hindi+English | = o
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68 The rate nt‘d::cnmpusilinn is faster1

69

70

24

n the

ecosystem due to following factors
EXCEPRT 2 _

(1) Warm and moist em'lr{mm:':nl 1
(2) Presence of aerobic sr_ul rnu.'r{‘rl‘{“fEi
(33 Detritus richer in lignim and ¢hitin
(4) Detritus rich in sugars

Match the following columns and select
the correct option :

Column - | Column - 11

(1) Pneumotaxic (i) Alveoli
Centre

(b) O, Dissociation (ji) Pons region of
curve brain

(c) Carbonic (i) Haemoglobin
Anhyvdrase

(d) Primary site (iv) R.B.C.

ol exchange

of gases
61y (a)-(in). (b)-(i11). (c)-(iv). (d)-(i)
(2) (a)-(iii). (b)-(i1), (c)-(iv), (d)-(i)
(3) (a)-(iv). (b)=(i). (e)-(iii). (d)-(il)
(4) (a)-(i). (b)-(iid). (c)-(ii), (d)-(iv)

Match the following events that occur in
their respective phases of cell cyele and
select the correct option :

(a) G phase (i) Cell grows and
organelle
duplication

(i1) DNA
replication and
chromosome
duplication

(iii) Cytoplasmic
growth

(d) Metaphase in  (iv) Alignment of
M - phase chromosomes

(1) (a)-Gii). (b)-(iv). (c)-(i), (d)-(ii)

(2) (a)(iv). (b)-(i). (c)-(ii). (d)-(iii)

(3) (a)-(1). (b)-(ii). (c)-(iii}, {d)-(iv)

(4) (a)-(ii). (b)-(iii), (c)-(iv), (d)-(i)

(b} S phase

{c} G, phase

Z6_Hindi+English ]
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68

TP I A S U DI 16 T
it ¥ fawes @i av_sifus o ¢ ]
(1) T T = g §

(2) G g gl @ SuRat §
(3) Tane uwd @ € gax ame
(4) YHT F TR F0E |

69 ﬁﬁ_wwﬁﬂﬁmaﬁﬁw

70

wy - | =y - 11
(a) samEUNEl &= (i) O1g Hium
(b)y O, FmFm 3% (i) #Afas &
9 &9
FTEITS TBEed (i) tHEraitaT
g fafa &1 (iv) R.B.C.
qIUTaS e
(a)-(ii). (b)-(iii). (c)-(iv). (d)-(1)
(a)-(iii). (b)=(i). (c)-(iv). (d)-(i)
(a)-(iv), (b)-(i), (e)-(iii). (d)-(ii)
(a)-(1). (b)-(1i1). (c)-(ii). (d)-(iv)

(c)
(d)

(1)
(2)
(3)
(4)

Prey Tz B SR BIRGT OF &l W
E o R M e e e A U
(a) G, weem (i) FifE gE o
(i) DNA @ wfigf
T g F
L
(iii) wifdrw wadt

(b) S wraen

(<)

(d)
qegraredl

(a)-(iil). (b)-(iv). (c)-(i} {d}*t'i‘i;i
(2) (a)-(iv) (b)-(1). {c]*[:ij}_ (d}-{{uf
;} (a)-(i)- (b)-(ii). (c)-(iii) {d}-f.:;r
{4] (a)-(i1)- (b)-(iii). (c)-{iv). (@~
{ | L. A

(1)
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Maitch the followin
the correct option -
Column - 1

(a) Dragonflics

£ columns gy select

Column - 1y

(1) Biocontrol agents
of several plant
pathogens

(b} Bacillus (1)) Get rid of Aphids

thuringiensis and mosquitoes
(c) Glomus (iii) Narrow spectrum
msecticidal
applications

(d) Baculoviruses (iv) Biocontrol agents
of lepidopteran
plant pests

(v) Absorb
phosphorus
from soil

(1) (a)-(ii). (b)-(i), (e)-(iii). (d)-(iv)

(2) (a)-(ii). (b)=(iii). (e)-(iv). (V)

3) (@)-{ii), (b)-(iv). (¢)-(v), (d)-(iii)

(4) (a)-(iii), (b)=(v). (c)-(iv). (d)-(1}

Match the following group of organisms

with their respective distinclive
characteristics and select the correct
option : o
Organisms Characteristics
(a) Platyhelminthes (i) Cylindrical body
with no
segmentation

Warm blooded
animals with
direct
development
Bilateral
symmetry with
incomplcte
digestive system
Radial
symmetry with
indirect
development
(1) {a)(ii), (b)-(iii). (c)}-(1v) (d)-(i)
(2) (a)-(iv), (b)-(i). {c)-(ii). (d)-(i1i)
(3) (a)(i). (b)-(ii}. (c)-(iii) (d)-(iv)
(4 (a)(iii). (b)-(iv), (c)-(i)- ¢ (d)-(ii}

(b) Echinoderms  (ii)

(¢) Hemichordates (iii)

(d) Aves {iv)

[24] 76 iindi+Enelish |
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71

=z

72

= - | = - 1l :
(a) Frrrwemd () =% arg dmg
(b) e (i) Tfme ud wesl
(¢) T (iii) ®HT T=zd
FHIZAE I
(d) FageEEdad (iv) &% A= =
= wE
(v) a1 A FERITE W
EEEL
(1} (a)(ii), (b)-(i). (c)-(iii). (d)-(1v})
(2) (a)-(ii). (b)=(iii). (c)-(iv). (d)-(v)
(3) (a)-(ii}. (b)-(iv). (c)-(v). (d)-(iii)
(4) (a)-(iii). (b)-(v). (c)-(iv). (d)-(1)

ﬁﬁﬁﬁmmﬂﬂ_ﬁmmﬁmﬁﬂ?ﬂﬁ
fﬁﬁﬁiﬂ'ﬂﬁﬁﬁ'&ﬁqﬂ

T dm fafiremn

(a) WEEfdE (i) 9T ug
=

(b) umgAsHer (i) Faaard
Ud U=W gigeT

(c) TW&H= (iii) Taared wwmimfy
TH XY 9TEd
oA

(d) == (iv) arim Ty
g U
qftads

(1) {a)-(ii). (b)-(iii). (c)-Civ). (d)-(i)

(2) {a)-(iv). (b)=(i). ()-(iD). (d)-(iii)

(3} (a)-(i), (b0 (o)=(iii). (d)-(iv)

(4) (a)-Ciii), (b)-(iv). (c)-(i) (d)-(i1)

| Contd...
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Select the correct option of haploid cells

from the following groups @

(13 Sceondary spermatocyie. First polar
body. Ovum

(2) Spermatogonia. Primary
spermatocyte. Spermatid

(3) Primary spermatocyie. Secondary
spermatocyte. Second polar body

(4) Primary oocyte, Secondary oocyte,
Spermatid

+4 The Total Lung Capacity (TLC) is the
total volume of air accomodated in the
lungs at the end of a forced inspiration.
This includes :
(1) RV: ERV: IC and EC
(2) RV: ERV: VC (Vitwl Capacity) and
FRC (Functional Residual Capacity)
#3) RV (Reswdual Volume):
ERV (Expiratory Reserve Volume):
TV (Tidal Volume): and
IRV (Inspiratory Reserve Volume)
{(4) RV: IC (inspiratory Capacily);
EC (Expiratory Capacity); and ERV

75 Match the following columns and select
the correct eption :

Column - | Column - [I

(a) Smooth (i) Protein
Endoplasmic synthesis
Reticulum

(b) Rough (i) Lipid
endoplasmic synthesis
reticulum

{c) Golgi complex (iii) Glycosylation

{(d) Centriole (iv) Spindle
formation

(1) (a)(iii). (b)-(i). (c)-(ii) (d)-(iv)

(2) (a)-(iv). (b)-(ii). (c)-(i). (d)-(iii)

() (@)-G). (D(i) (c)-GiD). (d)-(iv)

{47 (a)-(ii) (b)-(i). (c)-(iii). (d)-(iv)

76_Hindi+English |

(2) A, Wi S FE, Y
(3) wralgs sy wivE, EmE g
(4) Wafs sz, fodms =F, gampy

74 AO[EE OO & A H EwEl W E k.
TA_AEAT F FEE B FH A (TLC)
wEq €| 399 e Bl - -
(1) RV; ERV; IC wg LC
(2) RV; ERV: VC (9zeqel &) e

FRC (Fs 3W=iye A9aq)
(3} RV (srafer= wmmaA);

ERV (Fryaom gritm amamA);

TV (s amaaq): vd

[RV (sia: saa giea Agad)
(4) RV; IC (3a: 599 &wd0);

EC (FM:s3a97 &gar): wd ERV

75 P wd @ e e ad aEe T
=
T o
(a) ot afas=d (i) U AT
Fnfer h
{b) qﬁﬂ aimaan (i) fafgz T
Tt |
(c) THFAEH (iii) e
(d) wE G 31 (iv) wepeg Ff

(1) (@G (DHD. @i (-0
(2) (@) OHG). (@D (@)
G3) (aHid (DHD. (©)-(ii. (dl-ff‘::
(4) (ar(ib- (b)-(i). (c)-(iii). (d)-(Y

I Com

18
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77

78

79

30

Select the §

following ':"m'"““-'"}' Matched pair from
(1) Neurons - N
(2) Fibroblast —
(3) Osteocytes -
(4) Chond rocyvies

Which of the ne i

e -I‘ _tht. I"ul].mung IS associated with
crease in cardiac outpyy o

{l] Parasympathetic neural signals

(2) Pneumotaxie centre

(3) Adrenal medullan hormones

(4)  Sympathetic nerves

Ve cells
Arcolar lissue
Bone celjs

— Smooth muscle cells

lnlrinﬂic factor thay helps in the

Ehsnrp:mn of vitamin B, is secreted
y )

(1) Hepatic cells §2) Oxyntic cells
(3) Chief cells  (4) Goblet cells

Match the following columns and seleet
the correct option -
Column - |

(a) Gout

Column - II

(1) Decreased
levels of
estrogen

(ii) Low Ca** ions
in the blood

(iii) Accumulation
of uric acid
crystals

(iv) Auto immune
disorder

(v) Genetic
disorder

(1) (a)-(iii), (b)-(i). (e)-(ii). (d)-(v)

(2) (ak(iv). (b)(v). (c)-(i). (d)-(ii}

(3) (a)-(i). (b)-(ii). (c)-(iii). (d)iv)

(4) (a)-(ii). (b)-(i). (c)-(iii). (d)-(iv)

(b) Osteoporosis

(¢) letany

(d) Muscular
dystrophy

The best example for pleiotropy 15 :
(1} Phenyvlketoncuria

(2) Colour Blindness

(3) ABO Blood group

{#) Skin colour

24

Z6_Hindi+English |
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76 ﬁﬁﬁﬂg{/& o &1 wa w0

78

(1) == - @t wifsmm
(2) FqFTF - e T
(3) oNf=amEEzs - sfs wiyE )
(4) wF=zamEzg - fasar qsn sla@m

Fret & ol 72 Fremm & oz a)gdrud 2 7
() O aEm s
(2) saEwwEl =

(3) wfggss Twist & T

(4) srpEd i

HIATF FTCH = Tzt By, & s@sigo |/
(1) TFEam @i (2) amaat=s HieE
(3) 9= Frismr (4) ez wmHeTET

79 e et w faem w wd e aae

e ey,

——

WY — 1 =Y - 11l
(a) M3 (i) e @ F a5
(b) sft giwar (i) @ F = Catt
EHE R
(c) argarfaz (iii) ghr= aper &om =57
(d) 9sfa gwom  (iv) w=@wiaeEn faw
(v)  sriEise famry

(1} (@)-(iii). (b)-(i). (¢)-(ii). (d)-(r>
(2) (a){iv). (BX(v). (¢)-(i). (d)-(ii)
(3) (a)-(i). (b)-(ii). (c)-(iii). (d)-(in
(4) (@)-(ii). (b)-(i). (c)-(iii). (d)-(iv>

80 =guwWilerr =1 w8 w=m %
(1) wmEe i
(2) guiga
(3) ABO =t =3
(4) == =
[ Contd...
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81 Match the following columns and select

82

84

the correct option :

Column - [ Column - I1
(a) Rods and (i) Absence of
Cones photoreceptor
cells

(b) Blind Spot  (ii) Cones are
densely packed

(iii) Photoreceptor
cells

(iv) Visible coloured
portion of the eye

(1) (a)-(ii). (b)-(iii). (c)-(i), (d)-(iv)

(2) A{a)(iii). (b)-(iv). (c)-(ii). (d)-(i)

(3) (a)(ii). (b)-(iv). (c)-(iii), (d)-(1)

() (a)ktiii). (b)-(i) (c)-(ii). (d)-(iv)

{c) Fovea

(d) Iris

Which of the following conditions cause
erythroblastosis foetalis ?

(b)) Mother Rh™* and foetus Rh*v¢
{(2) Both mother and foetus Rh—e

(3) Both mother and foetus Rhtve

(4) Mother Rh™¢ and foetus Rhve

During Meiosis 1, in which stage synapsis
takes place 7

tl) Zygotene
(3) Leptotene

(2) Diplotene
(4) Pachytene

The size of Pleuropneumonia - like
Organism (PPLO) is :

(I} 1=2pum (2) 10-20pum

(3} 0.1um (4) 0.02 pm

The vellowish fluid “colostrum™ seereted
by mammary glands of mother during the
initial days of lactation has abundant
antibodies (I2A) to protect the infant. This
tvpe of immunity is called as :

(1} Active immunity

(2) Acquired immumty

(3) Autoimmunity _

(4) Passive immunity

| S0 W |

s w

20

81 ﬁﬁ}ﬂmﬁﬁm:;aqﬁﬁﬁafqaﬂ_m

w0 e

Lo | =y — 11

(a) M w3 sip (i) TEHISTITE]
FiTETHT B
yitrf‘{ﬂﬁl

(b) ¥y f3 (i) op waf@ed d

(c) wifam (iii) TaRTeTIITEL IR

(d) em3fw (iv) == ® T 36

= arg url
(1) A{a)-(ii). (b)-(iii). (c)-(i) (d)-(1v)

(a)-tin). (bx-(iv). (c)-(i1). (d)-(1)
ta)-tii)., (b)-(iv). (c)=(iii). (d)-(i)
(a)-(mi), (h)-(i) (c)-(ir). (d)-{iv)

82 P Fem e o sidreneEiay i
(1) =T Rh“¢ ud gor Rh™‘¢ 29 g3
(Z) =mar vd gm == Rh Y 29 97
(3) == U YU T RhYe 219 97
(4) =@ Rh™¢ w3 g Rh-Y¢ #F gy

(2)
(3)
(4)

ammf‘“} ——

(1) gm9zz (2) fagz=
(3) Tz () =Eyz

84 Wﬁm - 39 ?im'r F HTET E E
M) 1-2am @ ) 10-20 pm
{3} 0.1 um {4j .02 Hm

manmﬁ'—rvﬁrm AN griaEy % Hir

-.___=__-_

m&'ﬁqﬂmﬂﬂﬂLﬁ?Wﬁ?ﬁ'u
Eﬂmﬂmﬁnmﬁ—‘—”‘"*

| Contd-.-
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B6. “Which of ihe r“”"“ing options does
c_nrrucll}' represent the characteristic
leatures of phylum Annelidy
(1) Iriploblastic. segmented body: il
bilateralls ssmmetriea],

(2) Triploblastic. flavtened body and
acoclomate condition.

(3) Diploblastic., mostly marine and
radially symmetrical.

(4) Triploblastic. unsegmented body and
bilaterally symunetrical.

87 Cyclosporin A, used as immuno-
suppression agent. is produced from ¢
(1) Saccharomyvees cerevisiae
{2y Penmicillivm noratum
(3) Trichoderma pelysporum
(4) Monascus purpurcis

%8 lormones stored and released from
neurohy pophysis are )

{19 Oxxtocin and Vasopressin

(2y Follicle stimulating hormone and
|.cutinizing hormone

(3) Prolactin and Vasopressin

(43 Thyroid stimulating hormone and
Oxvtocn

89 Progestogens alone or in combination
with estrogens can be uscd as a
contraceptive in the form of -

(1) Injections onl . _
(2) Pills. injecsions and implants
(3) Pills only
(4) Implants only
on All vertebrates are chordates hut all

chordates are not verichrales. “h}_ e
(1) Ventral hollow nernve cord r:;:nmm.
throughout life in som¢ .:h_-.:r {:—‘S-I
All chordates possess vertebra
column.

All chordates posst
throughout their life.
Notochord is replace
column in adult of som<

(2)
.« notochord
(3) 55

d by vertebral
) chordates.

|'J.-I| Fi iadi i Tanlich |1

21

“FE e frﬂsﬁm%?

wET A gfud =4 E 9 .;

(2) Fawifes, 9921 37 19 WA areredt

(3) fz=ifes, Hﬁlﬂmqgmnaazflﬂ
Mt

(4) ﬁﬁﬁm.wm&@fménﬂﬁ?ﬁf

87 wfrcen Fri® #T0E & *9 & T BRI
¥ 7
(1) ddetamseira ddira
(2y Sl 22
(3) ZIEHIEHl QAT
(4) R TrgOHEA

() e waoaERiE
(2) gfmmnm A o9 FgEAETAT T
(3) -m!:faz?wam?fnq 3

(4) =EUIE WIE EHA T HTFETEAA

88

Wl @1 FEh 9 URiAd § AW UE
mifriras & =3 4 T99T f5e gEE 4 A
C;’_ﬂ:%.:jr:—_ | Z2

B FEe $AFE
(2) whferal, T TS HATY

89

(3) Ham miEgr

(4) FHaw A0
90 wh witie Fiz ¥ Afm Wi az 3
Qjﬁ_%.ﬂfﬁ_:_#

(1) 33 ot & A F1aa 8§ Jag e
A T7] EA B

(2) T FFE O HETE A E |

(3) i FE ® FEE AR A e

£
(4) T8 =D & IO § g2 qesE 4
e A E

| Contd...
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k7]

e . .
e 1T

o

92

93

%4

926

24

Three stars 4. B, C have surface
temperatures T 7o T, respectively, Star
A appears bluish, siar B appears reddish
and star C yellowish. Hence,
(1) Tp>T->T, (2) Te>Tp>T
G) T.>715 7 : A

A C g (4) T_-]}TB}T{"

Which of the following gate
universal gage 7
(1) AND gate
(3) NOT gate

is called

(2} NAND gate
(4) OR gate

The mean free path ¢ for 4 gas molecule

depends upon diameter, o of he molecule
as

(1) fed
1

[ o —

(2) focg?

|

-

(3)

'ijhc magnetic flux linked with a coil
(in Wb) is given by the equation

P
G=51"+31+16
The magnitude of induced emf in the coil
al the fourth second will be

(1y 43v (2) 108V
(3) 10V (4) 33V

The angular speed of the wheel of a
vehicle is increased from 360 rpm to
1200 rpm in 14 second. Its angular

acceleration is.
(1) 28radfs® (2) 1207 radfs’

3) Iradfs? (4 2mrad/s’

Two coherent sources of light interfere
and produce fringe pattern on a screen.
For central maximum, the phase
difference between the two waves will

be.
(1) =
€3) n/f2

(2) 3n/2
(4) zero

Z6_Hindi+English |

22

91 ?HM HE— :ﬂ?qﬁT:]";
TCE AT A A, 9T ST g

T C 97w Far 2 ) ot

(1) Tp>Tes7, 2) Tpo>Tp> 1,

(3) 3"_43‘*1’{-}1"}; (4) Ty=Tp>1T¢

92 ﬁ%&qw&gﬁgﬁﬂ@ﬁﬁm
T

(2) NAND Tz
(4) OR 2

(1) AND 7=
(3) NOT 7=

93 fael i & srpsit w1 Arey yaw vy (0, awged
% =Y, o T Frefarttr # & frw w A ok

i g ? ;
(1) {e=d (2) (o
(3) (¢ = (o

d #) d*

94 %w%mmﬁw{%ﬂ}
mmm%mﬁﬁmm?
O=31"+31+16
Y FHTE T FUA T AR emf @ gfeam
- o
(1) 43V (2) 108V
(3) 10V (4) 33y

gi_fiﬁr_mq%v%qﬁtﬁvﬁqmujmj
360 rpm | TWHT 1200 1pm B ey 1
THEL AT =TT &

(1) 28x rad/s>

(2) 120 x rad;'s?
(3) IrJd/S“' (4) Er:rad,/sz -

msr%ﬁrmﬁiﬁmaﬂﬂ;ﬁ
wfﬁ;-gﬁzﬂ1ﬂ?_ﬁ=fmﬁ’f | 3 T=" F

g 'a_: = e
forg <1 T = T S g i,
() = (2) 3x/2

(3) 72 “)

96

| Co
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97 What is the depth Which the value of

acceleration dye 19 eravi
times the valye that ay
earth ? (radius of canh

ty becomes Ifn
the surface of

=R}
(l} R{f!—l}fﬂ [}2} Rﬁ‘rf{ﬂ'—”
B Bn ) gl

98 An object is placed on the principal axis

of a concave mirror at a distance of 1.5 -

(f is the focal length). The image will

be at,
() 15f (2) -15f
(3 3f {4y =31

99 The acceleration of an electron due to the

mutual attraction between the electron and

a proton when they are 1.6 A apart is.

(m,~9%107 kg, e=16x107"C)

(Take =9x10°N m*C™)
4]‘[1’—_'-“

(103 mis @) 102 mis?

3) 103 mis2 (&) 103 mis?

100 The equivalent resistance between 4 and
B for the mesh shown in the figure is

4Q 8Q

10 € co %8Q

A B

(1) 16Q (2) 3080
(3) 48Q (4) 725

Z6_Hindi+English |

97 7z mé e & e we e @ LT

Eﬂﬁﬁﬁﬁﬁﬂﬂﬂﬁﬁﬁmwmﬂﬁﬁ?
VT A b (g B = B

(1) R(n-1)fn

{2) Ru,r"[n-' 1)

(3) Rfn 4 Rrfw’

98 Pt Foreer 1 ey areerer o 3 g 918 T
15/ (f w8 g &) oo rg L E |
wfefar 1 9§ I Er
() .51 (2) -1.5f
(3) 3f (4) -3f

00 g TR ANt Wz B dW 1.6 4 @ gl
%.ﬁ%rﬁfﬁ‘f?ﬁﬁmﬁ_ﬂﬂmmﬁwﬁam
TR B A R,

i i

(m, =9x 10731 ke,

e=1.6%x10"17¢C)

@R —L — 0x10°N m2C™2)
4ItEﬂ

(1) 1023 m/s? 2y 102 m/s2

(3) 10°% m/s? (4y 10°* m/ss

100 i@ ¥ guig W § 4 31 B E 4 g
(et )

g ————

4Q §Q

A0 £ 20 %8Q

A B

() 16Q (2) 30Q
(3) 48Q (49 72Q

23

[Ce
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101 jdentify the function which represents a
r,.eruui[{. motion.

(1) log, (o) (?) sinwr + cos o/

—OW

(3 e 4y ™

102 A liquid does not wet the solid surface if
angle of contact is ;
(1} equal to 60° (2) greater than 90°
(3) zero (4) equal to 45°

103 Out of the following which one is a
forward biased diode ?

(N ‘i—w—vﬁm—5l-’
o3
{3) ﬂ—r—-[}l—www-——3i--'
4) —_“LH_,,W_,__

104 For the circuit shown in the fipure, the
current f will be

2!’[1-1 4['10_

—ll—w.wu—|*—~wm—

e A A
/ 10

(1) 14
(3) 0.54

(2) 1.54
4) 0754

105 Time intervals measured by a clock give
the following readings :
1258 1.24 s. 1.27 5. 1.21 s and 1.28 s.
What is the percentage relative error of
the observations ”

(1) 4% (2) 16%

101 6 B0 & vren o sed Td-BLITEN

-F—|
(1 iﬂgf- (cor) (2) sin@f + COS f
[\'3} f*u}r {"” [.r‘ﬂ'r

102 v %1 za fd 2rg gu =i e 0w,

(1) 60° (2) 90° & Jfum
(3) s (4) 45°
103 ¥ § w= | aruiEeE aaied e
M2 w— sV
{23 ___{3 ¥ j_*,,”,,,_ 4 T
oV
(3} H WAAAAT ~ 3
—410"
) D —wa— — 2}

104 sma § =g 1 g ity % firg a4
a_'ﬂi[_“ﬁﬂf]!,

2.V 10 4V 10

-

FFYRNT ll.
l'- LA

I 40
(1y 14 (2) 1.5 4
(3) 0.54 4) 0.75 4

105 ﬁmuﬁmmmmmﬁr%m -
n F'[Tﬁ_ — v
1755 1.24s. 1.27 5. 121 s afc 128

@) 1.6% (4) 2%

f>a] 76 Hindi+English ]

o et F1 ST I A w30
[1) J%a '{2] 6%
(3) 1.6% (4) 2%

| Cantd...
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106 A light bulp and an j
connected to an ac S0y
as shown in the
closed and after
inserted into he
The glow of the

inducior coll are

. rce through g key
12ure belgy- The kev is

5
Ometime ap iron rod is

INterior of the inductor,
light bup

(1)
(2)
(3
(#)

remains unchanged
will Ouctuate
increases

decreases

107 Two solid conductors are made up of

same material, have same length and same
resistance. One of them has a circular

cross section of area 4, and the other
one has a square cross section of area
1, . The ratio Alf:i'z is

(1 1 (2) 0.8
63) 2 (4) L3
108 The magnetic field in a plane

clectromagnetic wave is given by,
B =2:-c:Iﬂ_?sin{nx]D3r+3rrx]n”f)r
¥

Calculate the wavelength.

3
(1) 2x107m (2) 2x10°m

(3) wx107m  (4) nx10°m

Z6_Hindi+English |
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106 3mi@w o =y AT god | Frt BN
ac T FH e @A a1 oft drw gued @
WWWJ:@ﬁFW&?ﬂ
muamwﬁﬁ Tl
"iﬁTF'E?nT:I‘!ﬂT’HT"'mT? lmﬂa-—{'qq"{ﬂﬁ

T
—ouor—

__@ rd
(1) swfrafda &
(2) # Tz-3%
(3) =% wmo
(4) =z =

107 mwﬁmmmﬁmﬁ?mmmﬁaﬁ

mmﬂmiumﬂnﬁﬁmﬁm
TAEN % fmmr d9Ee A ® o @

HITaHZ gt ¥ Forww dawm A, ¥
A /A, o wm oA P
(1) 1 ) 08 .
(3) 2 @) 15 T
R

IHBWWH@WMr
B 30 wER frEmm fm o E)

B, =2x 1o~’ sin{rtx lﬂ3.1:+3n:x 10! 1;:‘?‘ -

wimas gl Fifm -
2x10°m

(4) x10°m

2%107m (2)

(1) 2
(3) mx1073m

| Conta..~
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109 The variation of electrostatic potential

 with radial distance r from the centre of
& positively charged metallic thin shell of
radius R is given by the graph

110 The efficiency of a Camnot engine depends
upon
(1) the temperatures of the source and
sink
(2) the volume of the cylinder of the:
engine
(3) the tempeérature of the source only

.[ﬂ'g ﬁmﬂqﬁﬁmmﬂﬁfqﬂﬁ@ﬁ#%ﬁﬁ
B ot r & w0 e e et % T

F

p
(1)

4

-

i

110 Fodl T $9 3 err ke ey
QI E e ——
2) T % RRE B sy o

(3) W & TV U

(4) the temperature of the sink only

. : 26
Azl =& I—I’Fndf‘l‘EngIﬁhI

ZTRY
(4) <t (89) & aw g g
[ Conii
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I1 A n-p-n transistor is Connected in com
/. : mon
emitler configuration (see figure

; ) in which
collector volt

age
12¢ drop across load

resistance (800 Q) connected to the

collector circuit is 0.8
current is,

The collector

(1y 0.1 mA

() 1 mA

(3) 0.2 mA (4) 2 mA

112 The total energy of an clectron in the a'h
stationary orbit of the hydrogen atom can
be obtained by,

13.6
{]} "=_ : E‘J

n

1.36
@) Eg==trey

n
(3) E,=-136xn ¢V

13;6 eV

n-

4) E, =

[24] z6 Hindi+English |

111 & n-p-n zifaet 1. wofae gares A0
i (wtg ), fowd s wftag A F@T
#rs uhrow (800Q2) & fan qr fawa@d™
Eﬁ_ﬂ-.ﬁ—ﬂiﬁﬁmwtlfﬂﬁ@ﬂ
ur

Ry 3

r

(1) 0.1 mA I mA

(2)

(3) 0.2 mA (4) 2 mA

12 wrggem qoa] F ool s s F R
R W g o Pt @ @ fees
U W oen wEA E P

TR e
it ey
2
36
(2) E".—_-I{ eV
-
(3) E,=-13.6xn" ¢V
13.6
4) E,=—5¢V
n- .
27 | Contd.,.
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113 The de Broglie wavelength of an electron 113 144 eV 7w =57 § nfamm ﬁﬂﬁ SO &
moving with Kinetic Em;r_g}' of 144 eV is g Al TORH EE ¥, e
ncarly, (1) 102 = 10—~ nm (2) 102 = 1075 py
(1 102 = 10~ nm (2) 102 = 10~ nm (3) 102 = 102 nm (4) 102 = 107 gy,
3) 102 = 1072 nm (4) 102 = 10~} nm

114 u’ﬁ%&ﬁnﬁwﬁﬁaﬁaﬁgﬁimﬁmw

114 If the critical anecle [ ]
o gle for total mtcrnfl! & 0 Hiias: For 43° 2 @ 3H T H
re n from a medium te vacuum 1s EIEF:I&T GA| Crit
45° then velocity of light in the medium o ”
is. 3 : ,
(1) —x10% mis (2) V2 x10% ms

Nz

3
8
(1) T;xlﬂ m's (2) V2 x10% mys 8 8
2 (3} 3x10" m's (4) 1.3x10" m’s

(3) 3x108 m/'s (4) 1.5x10% mss

15 ot ot fim wdrey @1 A9 oo ey g
115 An ideal gas equation can be written as CF "‘—--—EI-T—— bz

_pRT P= BRE
M, ¥

mpaﬁ? Iy % wast
(1) W= o=, Wt Zegme

where p and M, are respectively,

(1) number densityv, molar mass

(2) mass density, molar mass (2) =M o, e =N
(3) number density, mass of the fas (3) s g7, g *1 TOO
(4) mass density, mass of the 2as (4) T=ume =g, g F T

116 The P-1” diagram for an ideal £as in a

piston cvlinder assembly undergoing a | 116 Ht@ § freea- 1
23 4 = - I'Hﬁa'wg 3 T
TS GH-=ETgT=

thermodynamic process is shown in the THTTE
hgure. The process is F-_I"_ﬁ;—ﬁ;,ir—@ BT aTzg] A =
: 4 :_m 4 r‘_qg__t__@-;"—"
[ Initial _-__E'T'Efﬁﬁ -~
state Final
; 5 T ,
# state P —_—___Sifay
HEHT
| I ——
(1) isochoric ¢2) isobaric (1) Tgamgar=s (2) Ty
(3) isothermal (4) adiabatic (3) woadE 4) e
—1 i e Penlich |1 258 ¢ rantd.-
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17 The half life of

undergoing - decay
If the number of nuclej i

2.0 102!

2 radioactjye sample
1s 14x10'7s,
N the sample is

» the activity of the sample is

nearly
(1) 1(]'5Bq (2) ]Uhﬁq
3) 10°Bg (4) 10%Bg

118 A barometer is constructed using a liguid

119

120

(density

760 kg/m?). What would be
the height of the liquid column. when a
mercury barometer reads 76 cm ?

(density of mercury = 13600 kg/m?)
(1) 13.6m ( 136 m
{(3) 0.76 m (4) 1.36 m

2)

—

What happens to the mass number and
atomic number of an element when it
emits 7y -radiation ?

{1 Mass number and atomic number

remain unchanged.

Mass number remains unchanged
while atomic number decreases by
one.

Mass number increases by four and
atomic number increases by two.

(3)

Mass number decreases by four and
atomic number decreases by two.

(4)

The E.M. wave with shortesl wavelength
among the following 1s.

(1) X-rays (2) Gamma-rays

(3) Microwaves (4) Ultraviolel rays

24

Z6_Hindi+English |
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N7 a-aimg 1 w =5 egnfes @ @

118

119

auig 14x10's ¥ | afs gg Ty § i

F1HE 2.0 107" &, 78 7 & abwEad

E, W

(1) 10°Bq (2) 10°Bg

(3) 10°Bg 4) 107 By

(e = 760 kg'm®) #1 Twim Fre T=Tdr
T F | W9 9N ITEETH EH 9EGTE 76 om
t, O 3H IEUT N 29 F T & A ar
2 7 (i wm o — 13600 kg'm?)

(1) (2) 136 m

(3) (4) 1.36m

13.6 m
.76 m

T PR _[a y-faiE amfda wmon &,

L

120 frefif 4 & ot 7 el A o
CEF T

(1} == de 7 gmm 5 9 w6
aftad 7 & &

(2) zegm @ aeiratda wd ¥ owafs
THW] He ¥ | #OFH w1 A &)

(3) Z=ATT HEam 4 BT 2T A 2 A 9y
HedT 2 51 G A E i

(4) 7 HEAT 4 FT T TR E & g
HEqr 2 ET0 92 AT B

-

(1) X-f&Tm (2) T feoa
(3) & a (4) TrETE R
[ Conutd...
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{ For the circuit given below, the KirchofI’s

v [e for the loop BCDEB is given by

loop ru

the equation

(1) iRy + Ey—Ey—iR=0
@)
3)
@)

ARy + Ey + Ex+i3R =0

-'E.?.Rl +E2—".E:3 +f3RI =

122 A plano-convex lens of unknown material
and unknown focal length is given. With
the help of a spherometer we can measure
the,
(1) radius of curvature of the ¢urved
surface

(2} aperture of the lens
(3)

)

refractive index of the material
focal length of the lens

123 The power of a biconvex lens is 10 dioptre

and the radius of curvature ol each surface
is 10 cm. Then the refractive index of the

-material of the Iens is.

(2)

lﬁlt.ﬂ

e
1y 3

4)

| e
(PR

(3)

e tiaFnolish 1 30

121:ﬁﬁﬁqnqqﬁqﬂjﬁﬁm;qm BCDE|

fere, Rty oy wfreer B0 -
__.i_————i

--—'-_'__-_-_-'-r)

! R f? H

4 0B "2 2.C

.Er! g RI e Ez

F E | D

d.__i‘;_l__-—

122 g wEd &R o Wed g0 @l @)

IR i G ¥ | ey @ wew

W ¥W AT ged ©,

(1) 9 %9 & 9 g o) wwar e

(2) =W &® & TR

ORECE E - S ——

(4) 39 &9 F sy <& @L::
123 Bt e 9 o w10 smires o

ﬁaﬁ TS TS B THaT fyoay 10 ciid 178

W F T W ooy

o o
- .-.-

9 | z2
W 3 @) 5
N

® 3 @ = N
[ )
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124 A point ‘r
cirEie u;‘nraasj‘ " 1S Moved ip 4 vertical
WS *r’ with the help of a

string. The velocin
of the mass is J7
[* gr

at the lowest point. T}
1€ 1ensio -
string at the lowesy —

nnt is
(1) 7 mg {é‘; nﬂ ::tg
{3:' | mg (4) ﬁm;:

125 A wire of length I metre r:ammﬂ a

current of / ampere is bent in the form of
a circle. Its magnetic moment is.

() IR f3 Am? ) 212 /x Am?
@) 12 [an Am® (4) 122/ Am?

126 An intrinsic semiconductor is converied

Into n-type extrinsic semiconductor by
doping it with

(1Y Aluminium (2)
(3) Germanium  (3)

Silver
Phosphorous

127 Three identical spheres. cach of mass .
are placed at the comers ol a right angle
triangle with mutually perpendicular sides
equal to 2 m (see figure). Taking the point
of intersection of the two mutually
perpendicular sides as the origin, find the
position vector of centre ol mass,

-,

.ll.j
A
2m
L .IHI _t
MY — » i
-~ A, 2 .f:q'l' i
(n (i-u') (2) 3( *
(3) ;(hf) 4) 3("”')
. J

26_Hindi+English |

124 hﬁﬁﬁm'm'ﬁﬁm‘r'iﬁtﬂ{m
et § fasdt 9101 1 sevn & e o AL B

6 e F e fa wgan [fTgr ©
frmm fag w7 Tmh 5 7 A A=
(1) 7 me (2) Rmg {-i:?
(3) 1 mg (4) 6 mg

IISIﬂmmﬁiﬁfaﬁ‘rﬁnmﬁmﬁIW
1 T weTiEd 1 A E, ga F Apia | ¥
Tk | gEE gEEE g b, ("FO
(M Irlf3 Am® (2) :.*f.-’-/n Am?

3) [L5/an Am? (@) 112/1 Am?

126 fw 7 adams w1 frstanga o & Reod
<A HTE -V % 4% Wdges 9 uiaida
e A == 4
G LIEe
(3) wofTam

L

(2) =7t
(4) =ERTH '.‘.

127 T wwvm Fnger ol e srea sy
7] war 2m ¥, & s 9 A9 gEER e,
fedl wam a1 7 MR, form R {G-rﬁfa
) 1 21 g T g F w5 fag
#1 A o=y areEy, T w2 w fafa wfge

1/
M
2m
Mo
\fe—s > -
- m I
(1) [;+j) (2) :!+J)
3
o Wisj) @ o7+ )
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128 A parallel plate capacitor having cross-

sectional area A and separation o has air
in between the plates. Now an insulating

df2 is

inserted between the plates as shown in

slab of same area but thickness

figure having dielectric constant K(=4).

The ratio of new capacitance to its original
capacitance will be,

——d —

AN

:LI
T
I

(2) 6:5
1)

(1) &8:5

21

(3) 4:1

129 A person sitting in the ground floor of a
building notices through the window, of
height 1.5 m. a ball dropped from the
roof of the building crosses the window
in 0.1 s. What is the velocity of the ball
when it is at the topmost point of the
window ? (g = 10 m/s®)

(1)

(3) 20m5s

14.5 m/s (2) 4.5 m's

(4) 155 m/s

32

128 arpre W dm A T g A B
W@maﬁuﬁéﬁaﬁ % 49 T
70 ¥ 1 Wana?z%mtﬁflé df2
TEiE K (= 4) ¥, s ¥ S
AR @ frar T & (39 IO R
anfear ofT g anfar &1 g B -

& —>
o

= % —  sefc)

V77 =
Lot 1
| r
(1) B:5 (2) 6:5 "EH
(3) 4:1 (4) 2:1 tﬂ

- & w9 A F =iy 1.5 m
SN 3 e faeE § 9F T e = fw
WA # B § P @ w i wn fewey
: FOlsHUTHE 2 Jﬁ%“"’l‘"h‘gg%]

% ot g T A, TE qwE A e e 2

(g =10 m/s?) :
(1) 14.5 m's () 45 m/s ' ]_JL
(3) 20m's 4) 155 m/s

Lo e [ Contd...
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130 The angle of 1’ (minute

. of arc) in radi:
15 nearly equal 1o, ) dian

(1) 4.85%10~4 rad
(2) 4.80x%107° ragd
(3) 1.75%1072 rad

(4y 2.91x10™~ rad

131 The wave nature of electrons was
experimentally verified by,
(1) Henz
(2) Einstein
{3) Davisson and Germer
(4) de Broglie

132 The length of the string of a musical
instrument is 90 cm and has a
fundamental frequency of 120 Hz. Where
should it be pressed to produce
fundamental frequency of 180 Hz ?

{19 60 cm (2) 45 cm

(3) 80 cm 4y 75 cm

A wheel with 20 metallic spokes each
I m long is rotated with a speed of

120 rpm in a plane perpendicular to a
maenetic field of 0.4 G. The induced emf

between the axle and rim of the wheel
will be. (1 G = 107 T)

(1) 2.51 =10V

(2) 4.0x1073V

(3) 2.51V

(@) 2.51 %104V

133

24

Z6_Hindi+English |

33

130 1 (a1 & @) % 2o e pge d A B
¢ @ .

T
(1) 4.85x10™ rad
(2) 4.80x107 rad
(3) 1.75%107° rad

4y 2.91x107™ rad

131 @3z @ GO WEHA @ Wi §er
Prefafad 9 8 feas fearar 7
(1) 7t
(2) FEEA
(3) e airr it
(4) F =™

132 fredh e o &1 = &1 = 90 om aam
“wEdr w angh 120 Hz ¥ 1 W@ @ 0w
9 AT Tiew s 180 Hz 9 @ngha
il -

(L-60 cm
(3) 80 cm

{(2) 45 cm
(4) 75 ¢cm

133 urg % 20 wis (wY), 79 wedss & eord
1 m%, 9= e ufeg =1 120 ipm &1 o
¥ 0.4 G 99 W & gETa 89 F T o
# gitta &oar T &1 3@ ufew @ ol e
A & 49 4fim emf €70, (1 G = 155 1)

(1) 251 =103V Vo DR s
() 4.0=10°3V e

. -, 1 '.J"'"J_"
(3) 251V gy 30
(4) 2.51 =107V

[ leld...
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v B 29T M e ofT Zie ﬂaﬁ‘_aqiﬂ
e AR Ffa | FE_S 92 F fiy

- gdor enEw 0.05 & 1 (€= 10mi?
The coeflicient of kinetic I'ri-:l:uﬂ‘h-‘ ok gﬁ e i i
the trolly and the surfacc 15 0.05. aﬂrmqwx gL g itE T

(g =10 m/s>. mass of the string is Fritd TEl ¥ )

plock 134

figure.
tween

{34 Calculate the aceeleration of the
and trolly system shown In the

negligible and no other friction exists). ' , .:v"‘“* )
-
Troll
rony 10 kﬂ <
10 kg . -
2 kg
[2kyg]
Block T
(1) 1.50 m/s2  (2) 1.66 m/s? (1) 1.50 m's®  (2) 1.66 m/s®
(3) 1.00 m/s®  (4) 1.25 m/s? (3) 1.00 m/s2  (4) 1.25 m/s?

135 The electric field at a point on the —
equatorial plane at a distance » from the 135 faga' AT p & i Fgg—" F = m
centre of a dipole having dipole moment 9t Mt Hﬂﬂﬁwm

;;’ is given by, RIS | :

r>> T5ya fida &6 am & sl &

(r »> separation of two charges forming

the dipole, €, - permittivity of free space) PTTH, € TH wm o fgmsiera)
ek —3 1_’
M) B=2Ff _ (3 E=2F
— —»
@ Be-—I 2 Bee P
4]: Eﬂ re 4“ En r
- i }-1-]-
-2 P
(3) £=- - (3) £E=- -
dme,r ey r
.y =3
@) P 4 E=—"g
'_4“,__:& = dneyr
ﬂ.j] e ¥4 I'J:n.r”-i—FI"li.'Iif:h I 34 [ C[III“'“'
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136 Which of the fuﬂuwing acid will form an
Eu}‘ Anhydride on heating ang (b) Acid
imide on strong heating with ammonia ?

COQH COOH.

(1) (2)

COO0II
COOH

Ol

COOH
COoOH COOH
137 Deﬁciendi' of which vitamin causes

(1) Vitamin D _ (2) Vitamin K
(3) Vitamin E (4} Vitamin A

1318 In which of the sols, the colloidal particlés
are with negative charge ?

(1) Haemoglobin (2) Starch
(3) Hydrated Al,O; (4} TiO,

139 Identify the reaction from I'B']]mving
having top position in EMF series (Std.

red. potential) according 10 their electrode

potential at 298 K.

(1 Fe2* +2¢ — Feg)
) Aut+3e > Aug
(3) K"'--|: le =K,

(4) Mgt + ?.cl_-—} Me)

oy [T o U 1 T 1

COOH

OH
5 Clogs® CX
COO0H

137 Rra frfiT @ T & o SEggdr

CHED

COOH
COOH

(1) fa=rite D (2) faafrm K
(3) faaEs E (4) F=fm A
138 Prafafee o 3 8 fews s 59 A9
raTed EhLE e
(1) e (2) =
(3) wwEifma AlL,O;  (4) TiO;

139 Prafafas 4 4 7 sffear meato e
298 K 9 3% ﬁ@@%@:?
S (s ot fava) A sirf Rafy g

{1] Fﬁz_!- '1"'2".‘.'_—) FE{S] _.': ,|_.

(2) APt +3¢ > A,

() K"+l =Ky

(4) Mg1+ +2e — Mg(ﬂ_
35 | Contd...
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g re—_——

—_ 40 FrefafEd 5 8 29
140 Which among the following salt solutions | 1 _____% 3

is basic in nature ? =

(1) Ammonium sulphate (1) s Hﬁ‘f’z
(2) Ammonium nitrate (2) M A5
(3} Sodium acetate (3) @iEas gEee
(4} Ammonium chlonde (4) artTas FUgE

141 Match the coordination number and type
of hybridisation with distribution ol
hybrid orbitals in space based on Valence

141 GdEaT ardy fegia & STET 97§99
mmwmmﬁwmm

bond theory. - ﬁﬁl“r’l TERiiE ] Wﬁﬁiﬁ Eﬁ]ﬁlﬂ[ |

Coordination Distribution T-I'EI-‘:FT HqE fafa =

number and of hybrid A T qFT FAF

type of orbitals T UFIT F1 famm

hybridisation in space (a) 4. sp’ (i) PrErhy fafhE

(a) 4. Hp:"‘ f,'lj lrigﬂ"ﬂl {h] 4, dbp: “_i] mﬁzﬁu
bipyramidal (c) 5.spid (iii) SqumeE

o - : 2
i:: . S;Ed :;f*]; fc:ri}:?irrh;i CRC o R
5. i) tetrahe
(d) 6. d3sp? (iv) square planar N

(M (a)(iii) (b)-(iv) (c)-(i) (d)-(ii)
(2) (a)(iv) (b)(i) (c)-(ii) (d)-(iii)
(3) (a)-(iii) (b)(i) (c)Hiv) (d)-(ii)
(4) (a)-(i) (b)Gii) (c)-(iv) (d)-(i)

Select the correct option :

(1) (a)(ii) (b)-(iv) (c)-(i) (d)=(ii)
(2} ta)(iv) (b)-(i) {c)(ii) (d)-(iii)
(3) (a)iii) (b)}()  (e)-(iv) (d)(ii)
(4) (a)-(ii) (b)-(iii) (c)-(iv) {d)-(1)

142 Fr=ifafiaa a1 M O D
142 Which of the following substituted ygeas e &4 e
& v - o ey e] 1)
phenols is the strongest acid Ol .
OH OH
) (h (2)
(1) (2)
0O CH, C, 11,
OCH; C,H;
OH OH OH OH
(4)
) O
CH; ND?
Clly MCy
| Comd--
36
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143 In collision theory of chemical reaction,
ZAp Tepresents

(1) : the collision frequency of reactants.

A and B
steric factor

(2)
(3)

the fraction of molecules with
energics equal to |,
(4)

the fraction of molecules with
energies greater than E;

144 The reaction of concentrated sulphuric
acid with carbohvdrates (C,,11,,0,,) is
an example of
()" Oxidation  (2) Reduction
(3) Sulphonation (4) Dehydration

145 What is the role of gypsum. CaS0,-2H,0
in setting of cement 7 1dentify the correct
option from the following :

(1) to provide water molecules for
hyvdration process

(2)

(3)

()

to help to remove water molecules
to slow down the setling process
to fasten the sefling process

146 Which of the following statemenl is not
true about glucose 7

(1) Tt contains five hydroxyl groups.
(2)
(33

(4) It is an aldohexose.

It is a reducing sugar.

It is an aldopentose.

147 The minimum pressure required to

compress 600 dm? of a gas at 1 bar 1o
150 dm? at 40°C i
(1) 0.2 bar (2} 1.0 bar

(3) 2.5 bar (4) 4.0 bar

[24] 76 Hindi+English |

143 ot sivfem & waee fogia ¥ ZaB

= T
(13 Aalr B mﬁmma.?;mmqﬁ?
(2) fafawm ==
(3} Eu%ia'zmwﬁaﬁmﬁ aropt & CEl
(4) E, & sfus s aw amaﬁaﬂﬂiﬂ
144 iz FewgfE o A wgE (CHa2O0n)
¥ wry aifafeg s )
(1) I9adT =l
(3) BERAIT &

(2) @goga &
(4) FrsemTe &1

145 drire & w99 8 famm, CaSO,21L,0 =

(1) WA wiman & o 7@ o] e
HATAT

(2) 7 AU W EEH H wEdd B

(3) wHY & "wiRdr & HE S

(4) W WES & T ST

146 wmm & fog_frofufas ¥ § - o
—

(T7 364 9w sEsiiems o 89 € |
(2) 9% UH uEEl SEU E |

(3) TE uH UrSIORE E A

(4) Uz um UrsrEwEE |

147 40°C gt w% | % 1 bar 9 600 dn;i* @

AT <A &
(1} 0.2 har {2) 1.0 bar
(3) 2.5 bar (4) 4:0 bar
T | Contd..,
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ldﬂtri%:qai Sg&rqﬁmmmiaﬂﬂ n-Hige

non-electrolyte solute 18 T

5 »f
ol 4 14 g of n-octanc 10 reduce % 114 g § tier an & FAed 30 99 7

:i;wi’:}i;fi:np:csaure to R0%, the molar 0% dF u';_r WM, 7 P &7 WG EEN
mass (in g mol-") of the solute is (g mol~! &), &

|Given that molar mass of n-octane I3 (fer T & B n-aii@eT & ST e
114 g mol-'] 114 g mol-! 2]

(h6b @) 80 (1) 60 (2) 80

(3) 20 (4) 40 3y 20 A 14

149 Which one of the following reactions does | 149 fp=fafiga & & -9 siffem S9—a99s
._.—---—‘-:znq:.?_._____“

not come under hvdrolysis type reaction ? vty Afiiear & afaia &0 el ?\
“ :I Li]N{S_} + 31‘1“'0“] e | I (I) LIJN{H} + 31 IID(” —
4HF5q) + 02y HHE5q) + Og(q)
(3) PJOTU[S] +ﬁ”:ﬂ{“ —3 {(3) P4D|[|{5] +6f120“} —3
41—!;?04{34} 4H3P04{a{”
(4) SiClygyy +2H20p) — ) SiClygy +2H,0, —
SiDZ{s} + 4HC]{:H:|} SEOE(E} + 4] IC[{a{-l

150 Which of the following statement is NOT
true about acid rain ?

(}) Causes no damage o monuments
like Taj Mahal.

{2} It is harmful for ﬁ]ams.

(3) Its pH is less than 5.6 (3) == pH 5.6 9§ =y Tar ® |
(4) Tt is due to reaction of 50,. NO, (4) e out & o F $0,. NO, afit c
and CO5 with rain water & q SfaiEa Zmg }ﬁf_ﬁ 3
— 1.k 1 0 s rnmiil.
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w =1 N5 P
g v ? L .br (e
|4 8= - o J“_.-f'f
2l
P
)]
_ P Pr= s
51 ldentify ; . 3 —
1 M{;]E.:I, 121: W Tﬂnglg matched pair., 151 &3 ﬁqﬁ&m qH E‘l_r_'il?ﬂﬁ'q I 50,..4"*-“"
hape or geomelry = ';"“J. R 7 F AFE A el
of molecyle ; AT
(1) SFq Octahedral k) ‘Shy o
(2) BeCl, Linear (2) BeCl, @A
(3) NH; 'l:rignna! pyramidal (3) NH; B ffe
(4#) PClg Trigonal planar (4) PCl, =i g

152 One mole of carbon atom weighs 12 g,

the number of atoms in it is equal to. 152 U% Hig HET T FH ‘Fm'lll g', E"ﬂi'

(Mass of carbon - 12 is 1.9926 = 1023g) TTAS 1 EEAT_AE R
(1) 6.022 <1072 (2) 12 % 1022 ET—12 % A 1.9926 < 1072%g)
(3) 6.022 = 1073 (4) 1.2 x 10?3 (1) 6.022 % 1022 (2) 12 x 1022

) 23 iy 023
153 If for a certain reaction AH is (3) 6.022x10-7 (4) L2Zxl|

30 kJ mol~! at 450 K. the value of A S | 153 of freh sl & fo 450 K vt A H
(in JK-! mol~!) for which the same 30 kJ mol~! ¥, 77 wu am uy agt s

reaction “‘l”.hf spontancous at the same AS K- mol! &) Fre M W @
temperature is

Lh

(1) 33 (2) 33 wafaa Bl 9% ¥ bx . 21
(3) 70 &)y 70 (1) =33 (2) 33 g
154 A liquid compound (x) can be purified (3) 70 (4) 70 ""'}F

by stcam distillation only if it is

(1) Not steam volatile, miscible with | 154 @ 53 P (x) Wrfm o] 1 &aa

waler adl_gifua T w1 weam &, afy g
(2) Steam volatile, miscible with water (1) w9 arsier % 21, = § fyahg @ )
(3) Not steam volatile, immiseible with (2) WM e &, e § e w
water e
(8) Steam volatile. immiscible with (3) I roRdiir 7 3, e A sifaarta @ |
water (4) W gyt B, A9 o stftaeia 8
155 How many (i) sp> hybridised c:?rhnn 155 fetfafas difrs & e (i) sp” St Ef;ril
atoms and (ii) g bonds are present in the Wﬂ_ﬂfﬂ'_[ii} = ; 3
following compound ? —— Y Uit L i
C=C—COOCH i
@— C=C—COO0CH; @‘ ; v f
1) 8.6 ) 7.6
6 ) 7.6 ( ]
ﬂ: ; 5 (# 7.5 (3) 85 4) 7.5

156 Reaction of pmpanamide with ethanolic | 156 ﬁﬁ‘-‘-"r'j!?_!_ﬂ?l T R m&_{__
codium hydroxide and bromine will give i % _mre srfufar & 9rg €

(1) Methylamine (2) Propylamine (1) e (2) WiftereaE
(3) Aniline ¢4) Eihylamine (3) TfE (4) i
76_Hindi+English | 39 :«vwh@m,_ | Contd...
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137 Identify the comect statement from the
following.

(1) Lithium and Magnesium show some
similarities jn their physical
properties as they are diagonally
placed in periodic table.

(2) Lithium is sofier among all alkali
metals,

(3) Lithium chloride is deliquescent and
crystallises as a hydrate, LiCI- H,0.

(4) The order of hydration cnthalpie% of
alkaline earth cations

Be®* < Mg+ « Ca2+ < 812+ « Bal+

158 Match the following aspects with the
respective metal,
Aspects
(a) The metal
which reveals
a maximum
number of
.oxidation states
The metal
-although placed
in 3d block is
‘considered not
as-a transition
¢lement
The metal
which does not
exhibit variable
oxidation states
The metal
which in "1.'1
oxidation state in
agueous solution
undergoes
disproportionation
Seiec[ the correct option : -
¢1) (a)-(ii) (b)-(iv) (©)-() (d){i})
(2) (a)(iii) (b)) (&)-(iv) (d)- (ii)
3) (a)-GiD) (b)-(v) (c)- (M  (d)-Gii)
@) () (b)-(iv) ()i /(A

Metal
{i) Scandium

(b) (i1 Copper

(i) Manganese

(c)

(d) (iv) Zinc

~4] .76 Hindi+English ]

157 ﬁfmﬁrﬁﬁqaaﬁa@lﬂﬂﬂﬁﬁ#

(1) i ol iy 7% Sk o

¥ g5 gurman] vl i ¥ T g
maﬁwqfaawia g B\

Wi Ty et wrgel ¥ 9 I E
SRR ZeToss waT & ST U Tl
LiCI-H,0 % éﬁr%&rﬁﬁa‘m%_n
GOl

Be?* < Ma2+ < Ca2t €82t <Ba?*

158 Preofie wo @ e ag & T g
L -
(a) ‘75 Ty (i) whizm
HATFHIE T

e T -

G CR g Lo
waEliig w3 E |
% Uiy = 3d
we H g ¥

Fire oft dw T
=& W S |
(c) =% uig =t

L EELEip)
HTFEHTT FTEmd
Wit & @@ |
aqE =g S+l
ST e CoT STt
¥ e Rew o
SR W=
FwWre |l
ofae Tawey g

(1) (@)-(ii) ®)-(iv) (-G (a)- (11]
(2) (a)-Gii) G0  (©)-(iv) (d)(ii) s
(3) (a)ii) ®-V) ()-() (d)-iD) | LJ
@) (a)-) ®-v) (i) (d}-(m)

| _Eﬂ.l“l:l_-r'.

@)
(3)

(4

(b) (i) =&

(d)

'|=‘ *'.'_

k
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159 Match the elemem in column

I wi -
in column [L ith that

Column 1 Column II
(a) Copper (1) Non-metal
(b) Fluorine (11) Transition metal
(c) Silicon (1i1) Lanthanoid
{d) Cerium (iv) Metalloid

Identily the correct maich -

¢1) {a)-(in), (b)-(i). (c)-(iv). (d)-(iii)
(2) (a)-(iv). (b)-(iii). (e)-(ix (d)-(iD)
(3) (a)-(i). (b)-(id). (e)-Giii). (d)-(iv)
(A) (a)-(ii). (h=(iv). (o)-(). (d)-(iii)

160 Among the compounds shown below
which one revealed a linear structure 7
(1) HOCO) (2) O
@) N,O (4) NO,

H B2l Z
“H-C =0 b= = _F .
161 CH;CH,CH 21170, 11,0, OF

What is £ 7~

(1) C[IJCHELTI[C]IJ
OH

F”] CH; C[LCH CHO

{4) ClI C}LCH-.CII-.DH

[dentifv compound (A) in the following

reaction

162

CHO

H,|Pd|BaSO4
e DD

(2) A etophenone

(1) Toluet® . o) Benzoyl ehloride

(3) Benzoic acid

(2) (aktiv). (bt (c)-(i). {dy-(ii)
(3) (a)-(i). (bp-Lai). (e, (dy-(iv)
(4) (a)(ii), (b)-(iv) (k) (d)-(iii)

160 5t frmm o dies |4 § e TEE 539

Cfﬁﬁ_ﬁf?
{1y Hocl

2y Oy
(3) N,O (4) NO,
I3, H
- H,0. H-,0,. OH
= i 3
ZEmk 2
(1) CH,CHLCH CH;

I
OH

(2) CH;CHLCH,CHO
(3) ClH;CI,CHACH;
{4) CH;CHLCH.CH-OH

162 Pieviors s 3 Bt AL uu L

CHO
Ho|Pd|BaSOy @
(1) =g (2) THEREE
(3) F=iEF o (4) SEE Oy
41 | Contd..,
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Tl |1 Fem 11
(@) @mm (F9T) (i) FEE
(b)y WA (il) HHTT G
(c) fafasa (iii) FEAES
(dy wiraA (iv) 39-419
(1) (a)(ii). (b)-(). (e)-Gv). (d)-(iii)
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163 Which of the following statement 18
correct about Bakelite 7

(1) It is an addition polymer.

(2) It is a branched chain polymer.
(3) It is a lincar polvmer.

(4) It is a cross linked polymer.

164 Which of the following compound is
most reactive in electrophilic aromatic
substitution ?

OH
g4

165 The potential energy (v) curve for H-
formation as a function of intemuclt:ur(

distance (x) of the H atoms is shown
below.

" (b—a)
{” EI.:'_EI_J_ (2) 23
@) (c—a) @ @-2)

163 FhErsz & B frefafag & @ SASL ST
(1) 9% 0% ¥am 7 & |
(2) W UF i uen GAS © |
(3) 9® UF @™ wges £ |
(4) T5 % frdpas agos ¢ |

164 sﬁﬂﬁﬁﬁi&mﬁzﬁuﬁwﬁﬁﬁﬁfﬁﬁ?ﬁq

Hﬂi"ﬁ—muﬁvﬁﬁm aﬁﬁmﬁ:ﬁ'ﬂﬁﬁﬁ% ¥

NO,
(1) @ (2) @
Cl
=

OH
de

ﬂ?[lqﬁrmqﬂ?ﬁfqamﬂﬁﬁ’fl } & e
ﬂmﬂﬁuﬁﬁﬁ{\}mﬁaﬁmw 4

0

HE RS e
) [c:a] Q) (h:a]
(3) (c-a) 3 (b-a)
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167

Which one of the f;
shows both. Frenke
delects ?
(1) Agl (2)
(3) ZnS

jillnwmg compounds
45 well as Schottks

NaCl
(4) AgBr

l‘dcmil';.' the incorrect statemenlt from the
following :

(1} Lanthanoids reveal onfv
state., -

+3 oxidation

(2) The lanthanoid jons other than the
% tvpe and the £ tvpe are all
paramagnetic. '

(3) The overall decrease in atomic and
tonic radii from lanthanum to
lutetium is called lanthanoid
contraction.

P Zirconium and llatnium have
identical radii of 160 pm and
159 pm. respectively as a
consequence of  lanthanoid
contraction.

168 At standard conditions, if the change in

169

24

the enthalpy for the following reaction is
~109 kJ mol='.

»
”:”__r]. + Hr:ly — 2 lIBrl_m

Given that bond energy of Hy and Bry is
435 KkJ mol-! and 192 kI mol=!.
respectively. what is the bond energy
(in k] mol~!) of 11Br ?

(1) 736 (2) 518

(3) 239 (4) 368

(ollowing oxide is

Which of the s
amphoteric in nature -
(1y S0, {2) GCQJ

Z6 Hindi+English |

166 Frafaias A § 7 =99 S g e

3. EE EELE @

(1) Agl (2) NaCl
(3) 7n5 (4) AgBr

167 Fr1 % § TR FEE g

(1) s am <3 st o

(2) I'Vwewrg i [ e F afaioem o
o TS ST e A ¥

(4) TEER 3T FEAEE o e
wEHIT: 160 pm ]ﬁ'{' 159 pm. ﬁ_w w
HFTT T AIEEET A ¥ |

168 W sraensi uT, vz frefafias sffea
% foro oeiied 4 aftasd —109 kI mol=! ¥ )

H

"
2(g) + Bragy) — 2HBr,

frar % 5 H, T Br:ﬁ-‘ﬁ T FAT W
435 kI mol=! & 192 K mol-! 2, HBr &
Y FA (k) mol"'®)yFm ® 7

(1) 736 (2) 3IR

(3) 259 (4) 368

Iﬁ?ﬁﬁﬁfﬁaﬁﬁﬁﬂ?—mm@?w

“-‘\-'\"—.___.—-—'_'_'J-f
\-\..______‘

(1} 5i0, (2) GeQ,
(3) CO, (4) Sno,
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170 The half-life for a zero Order 0T
having 0.02 M initial ¢on¢
reactant is 100 s. The rat
{in mol L~V 51y for the reac

23
() 20x107 () E.ﬂﬂ-,lﬂdd
3) Lox102  (4) 1.0*10

& cqnstﬂnl
tion is

'ﬁ[JWhi:;h of the following is not true about
chioramphenicol ? |

(1) It is a broad spectrum antibioftic.
(2) It is not bactericidal.

(3)
(4)

It is bacteriostatic.

It inhibits the growth of only gram-
positive bacteria.

172 Match the elements in Column I with
methods of purification in Colurn II.

Column I Column 1L
Boran (i) Van Arkel method
Tin (it} Mond’s process
Zirconium (1ii) Liquation:

Nickel {iv) Zone reﬁnin_g
(a)-(iv) (b)-(iii) (c)-Gi) (d)-(i)
(@)-Gii) (b)) (e)iv) (d)-(iii)
(a)-(iii) (b)-(iv) (e)}() (d)-(ii)
(@)-(iv) (b)-(iii) (c)-() (d)-(ii)

(a)
(b)
(c)
(@
(1y
(2)
(3)
)

173 In a typical fuel cell, the reactants (R)
and product (P} are

(1) R=Hy), Oy P=H,0 )
(@ R=Hy) Ogfg). Clogyy;
P= H‘CIG4 (a'q)

(3) R = Hz[g}, Nz{g}; P= NHE(aq]

) R=Hyy, Ogfgy P =Hy05,)

entration of

L N

b P =

ad ;
e

(70 Red STE @ @ affem, e il
- wiger 0.02M %, ¥ fro ard 1005 %
aiffirat & fU em fertis (mol L7 5719,
% - |
(1) 20x10%  (2) 2.0x1073
(3) 1L.0x1072  (4) 1L.0= 107

171 FarodieeE & oo feaffag 5§
m L L
%ﬁmﬁmgﬁﬁm%l
(2) g SArEmETEn G965
(3) us uH wiEn frius ¥
(4) @E Faa - Farget @ ghg W
S A

172 i 1 % e &l dery 113 siver = Parerdy

TR At 1> -
e |

wlaw 11
(a) SR (i) &7 omhw fafy
(b) fest (i) wHi= umd
(c) weiram  (ifi) e
(d) = (iv) e greahe
(1) . (a)-(iv) (b)-(iii) (e)~(ii) (d)-(i)’
(2) (a)-(i) (b)-G) (e)-(iv) {(d)-(iii)
(3) (a)-(iiiy (b)-(iv) (c)-() (d)-(ii)

(4) (a)-(iv) (b)-(iiD) (c)-(i) {d}-(ﬁ)

173 s wiehe $o 3 %, st (Rleﬁl_
== (P) ¥ :
—

-:- g a
BB
..-I. ..- = i

2) R=Hy Oy Clagy 55

¥
———, -

{3} R — H’ﬂ(g] NE(EJ;.P_' = N_H_":r{aq ) #':}_Fj{'f' |

1

. s ok ¥
R =Hygy Osteys P = HaOgp)
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174 [sotonic solutj
Ons have same
(N freezing lemperaryre
(2) osmotic Pressure
(3) boiling lemperature

(4) vapour pressure

175 The solubility product for a salt of the
type AB s 4 > 108, What is the molarity
of its standard solutjon 2

(1) 16 = 10716 mal/L
(2) 2= 1071 mol/L
(3) 4 = 10~ mol/LL
{(4) 2= 10~ mol/L

176 Which of the following will NOT undergo
S.! reaction with Ol ?
(1 (CH;y);CCl
CH,CH,CI

2)

CH,CI

(3)
(4) CH,=CH-CI 1€l

177 Which of the following is a free radical

: M
substitution reaction -

(1) Acervlenc with HBr

§2) Methane with Br,/hv 1
(3) Propenc with HBr(CH;COO),
(4) Benzene with Br./AlCH

[24] z6_Hindi+English |

174 wouard fawasi @1 g ear & -
(1) Tl @
(2) 9UETT 79
(3) F9u1 O™
(4) 9™y ==

lTEABm?ﬁqﬁmﬂfaﬁuﬂTW
4= |08 % IEH%HHEWE&W
F ¥ 7 pifa B
(1) 16 = 10°1® mol'L f_f_j'_g
(2) 2= 10-1¢ mol/l.
(3) 4 10~ mollL
(4) 2 * 1074 molL

—

176 Prffag § § w1 OH & @ Syl

B L

(1) (CH4),CClL
CH,CH,CI

de

CH,CI

(3)

(4) CH,=CH—-CH,Cl

177 Freffan & § F-61 790 G gRRe-

(@55@ 3}?
(1) UHfedm & HBr % @y
(2) A&7 @ Bryhv & W9 .
(3) wrE B HBr/(CHCO0), % w1
(4) F=h W Bry/AIC]; & wra

45 [ Cont” .
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{78 Match the compounds ol
in
with the molccular Structure

179

180

(a)
(b)
(c)
(d)
(1)
{2)

&) (a

(4)

The number of angular nodes and radial

Column 1

X eF, (1)
Xek (ii)
XeOy; (1)
XeOF (iv)

(a)-(ii) (b)-(iv)
(a)-(if) (b)-(iii)
)-(ii) (b)-(1)
(a)-(ii) (b)-(i)

Column 11
Square planar

| inear

Square pyramidal
Pyramidal
(e)(iii) (d)-(1)
(c(i)  (d)-(1v)
(¢)-(iv) (d)-(iif)
(c)-(iii) (d)~(iv)

nodes in 3s orbital are

(1)

1 and 0. respectively

(2) 3 and 0. respectively

(3) 0 and 1, respectively

() 0 and 2. respectively

The oxidation number of the underlined

atom in the following species

(1)
(2)
(3)

¢4)

ClOj is +5

RoCr07 is +6

HAuCI, is +3

CU}__Q is —1

Identify the incorrect option.

e in column 1
column 11.

ITSW[‘??\LE’MHW”qﬂTﬁw

T T i

Fied | wi=m 11

Xel, (1) =1 HHa
XeF, (ii) w@Wa

XeO, (iii) =t foifd
XeOF,  (iv) Tudwd
(a)-(i1) (b)-(iv) (c)-(iii) (d)-(i)

(a)-(11) (b)-(11) (c)-(1) (d)-(iv)
(c)-(iv) (d)-(iii)
(c)-(iii) (d)-(iv)

(a)-(ii) (b)-(i)
(a)-(i1) (b)-(i)

179 Jhmammﬁrqwm#m&ﬁfﬁwﬁ?ﬁr

& =

(1)
(2)
(3)
(4)

-

| &t 0 n
3 & 0
0 30T 1
0 3T 2

HHAT:

shHAT:

HHIT:

HHIT:
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